कार्यालय सहायक आयुक्त देवस्थान विभाग, उदयपुर

पता—सूरजपोल चदयपुर. ई—मेल— ac.udaipur_dev@rajasthan.gov.in, Ph. 0294-2420546

क्रमांक :एफ3()लेखा/देव/उदय/2023/3/5)

दिनांक : - 27/2) 22

ई निविदा सूचना संख्या - 03/2023-24

राजस्थान के राज्यपाल महोदय की ओर से देवरथान विभाग द्वारा प्रवंधित एवं नियंत्रित राजकीय प्रत्यक्ष प्रभार श्रेणी के 25 एवं राजकीय आत्मनिर्भर श्रेणी के उदयपुर जिले में रिथत 22 मंदिरों में साधारण मरम्मत/जीणींद्वार एवं रंग—रोगन कार्यों के लिये राजस्थान सरकार के लिए "एए" 'ए' 'बी' 'सी' एवं 'डी' श्रेणी के पंजीकृत संवेदकों से अथवा राजस्थान सरकार के निगम/बोर्ड आदि में समकक्ष श्रेणी में पंजीकृत संवेदकों के समकक्ष हो से निर्धारित प्रपन्न में ई—टेण्डरिंग प्रकिया द्वारा ऑनलाईन निविदाएँ आमंत्रित की जाती है।

निविदा से संबंधित विवरण वेबसाईट devasthan, rajasthan .gov.in, eproc. rajasthan.gov.in तथा http://sppp.rajasthan.gov.in पर देखा जा सकता है

ऑन लाईन निविदा फार्म मिलने की	29.07.2023 प्रातः 11.00 वजे से
दिनांक व समय	07.08.2023 प्रातः 11.00 वजे तक
ऑन लाईन निविदा फार्म जमा कराने की अन्तिम दिनांक (वेबसाईट पर)	07.08.2023 दोपहर 1.00 वजे तक
निविदा शुल्क / धरोहर राशि एम.डी.	दिनांक 07.08.2023 सायंकाल 06.00 वजे
आर.आई एस एल शुल्क डी डी जमा	तक कार्यालय <u>सहायक आयुक्त, देवस्थान</u>
कराने की दिनांक व समय	विभाग, उदयपुर
निविदा खोलने की तारीख	दिनांक 08.08.2023 दोपहर 12.30 बजे से

क स	कार्य का नाम	अनुमानित लागत (रूपये)	धरोहर राशि (रूपये)	निविदा प्रपत्र शुल्क राशि	एम डी आर आई एस एल शुल्क	कार्य पूर्ण करने की अवधि
1	2	3	4	5	,6	7
	विभाग द्वारा प्रबंधित एवं नियंत्रित राजकीय प्रत्यक्ष प्रभार श्रेणीके 25 एवं आत्म निर्भर श्रेणी के 22 मंदिरों में साधारण मरम्मत/जीर्णोद्धार एवं रंग—रोगन कार्य।	36,35,377/-	72700/-	1000/-	500/-	2 Months

निविदा प्रपृत्रों को वेबसाईट htpp:// eproc.rajasthan.gov.in पर से डाउनलोड किया जा सकता है। इन निविदाओं में भाग लेने वाले संवेदक निविदा के इलेक्ट्रोनिक फारमेट मे वेबसाईट htpp:// eproc.rajasthan.gov.in पर जमा कराएँ।

Udaipur

1 यह मंदिर विभाग द्वारा प्रबंधित एवं नियंत्रित राजकीय प्रत्यक्ष प्रभार एवं आत्म निर्मर श्रेणी के होकर उदयपुर जिले के अलग—अलग स्थानों पर स्थित है, जिन पर व्यय किये जाने का विवरण निम्नानुसार हैं।

(A)राजकीय प्रत्यक्ष प्रभार मंदिरान में करवाये जाने वाले रंग-रोगन मरम्मत कार्य की सूची-

Б. Ж .	कार्य का नाम	अनुमानित व्यय राशि
	2	3
1	मं.श्री पाला गणेश जी, गुलाब बाग की फाटक के बाहर, दुध तलाई रोड़, के पास, चदयपुर में	79470/-
.,,,,	मंश्री प्रतापनारायण जी, बागोर की हवेली, , उदयपुर में साधारण मरम्मत एवं रंग-रोगन कार्य।	9650/-
2	मं श्री माता जी करणी जी, उदयपुर में साधारण मरम्मत एवं रंग—रोगन कार्य।	9650/-
4	मंश्री कुंग कूमेश्वर जी महोदय, पीपली घाट, उदयपुर में साधारण मरम्मत एवं रग-रागन	92620/-
5	कार्य। मंश्री उदयश्याम जी व मुरली मनोहर जी, फिरंगी घाट (बांद पोल दरवाजे के बाहर) उदयपुर	72512/-
	में साधारण मरम्मत कार्य। मंश्री हनुमान जी, मांजी के मंदिर के पास, उदयपुर में साधारण मरम्मत एवं रंग-रोगन कार्य।	78330/-
6	मंश्री हनुमान जा, मोजा के मादर के पोस्ट उपयुद्ध । मंश्री अन्नपुर्णा नागा नगरी, उदयपुर में साधारण मरम्मत एवं रंग-रोगन कार्य ।	57050/-
7 8	मं.श्री हनुमान जी महल बाला, हरिदास जी की मंगरी उदयपुर म साधारण मरम्मत एव	78560/-
	रंग-रोगन कार्य। मं.श्री नवलश्याम जी, जगदीश चौक पुलिस चौकी उदयपुर	79150/-
9	मंश्री उम्मेद विहारी जी य हनुमान जी जगदीश चौक उदयपुर में साधारण मरम्मत एव	79150/-
	रंग-रोगन कार्य। मं.श्री हनुमान जी सदनोर की हवेली के पास उदयपुर में साधारण मरम्मत एवं रंग-रोगन कार्य।	91610/-
11	मंश्री नया महादेव जी, शमशेर गढ़ हाथी पोल के बाहर उदयपुर में साधारण गरम्मत एव	67610/-
18787	रंग-रोगन कार्य। मं.श्री माता जी करणी जी कविराज की बाड़ी हाथी पोल के बाहर	77770/-
13	मं.श्री विष्णु शिव पंचायत पंचवटी देवस्थान प्रधान कार्यासय उदयपुर म साधारण मरम्भत एव	91430/-
15	रंग-रोगन कार्य। मंश्री महादेव जी जमराव गिरी जी का मठ देहली गेट जदयपुर में साधारण मरम्मत एवं	91610/-
16	रंग-रोगन कार्य। मं.श्री महादेव जी उमराव गिरी जी का मठ औं प्रयाग दास अस्थल के पास सूरज पोल	91610/-
-000	उदयपुर में साधारण मरम्मत एवं रंग-रोगन कार्य। मं.श्री माता जी उमराव गिरी जी का मठ श्री प्रवाग दास अस्थल के पास सूरज पोल	49350/-
17	मं.श्री हुनमान जी उमराव गिरी जी का मत श्री प्रयाग दास अस्थल क पास सूरज पाल	68570/-
19	मंत्री गणेश जी व मौमिया जी फतह मेमोरियल सूरज पाल, उदयपुर म साधारण गरमात एव	82870/-
20	में श्री चन्द्रेश्वर महादेव बाई जी राज की ब्रह्म पुरी खदयपुर में साधारण मरम्मत एवं रंग-रोगन	
21	न के पाल की भारत की मोकान विलास जदयपर में साधारण मरम्मत एवं रंग-रोगन कार्य।	77770/-
22	्र के के के के स्वारं मा प्रश्नामा में साधारण महम्मत एवं रंग-रागन यहाँ ।	79150/-
23	र्व की व्यक्तिकार समावेत की शनवासीय जरायपुर	94110/-
-	नं की नामकारणा की गाम स्थापना सदयापर में साधारण भरामत एवं रंग-रोगन कार्य।	77770/-
24	मंश्री महादेव जी नर्वदेश्यर जी जयसमन्द की पाल पर उदयपुर न साधारण नरमात एव	94870/-
	रंग-रोगन कार्य। योगः	- 1860222

(B)राजकीय आत्मनिर्भर मंदिरान में करवाये जाने वाले रंग—रोगन मरम्मत कार्य की सूची—

्स.	य आत्मनिर्भर मंदिरान में करवाये जाने वाले रंग-रोगन मरम्मत काय पा ५ कार्य का नाम	अनुमानित य्यय राशि
and the second second	मं0 श्री जवान स्वरूपेस्वर जी महादेव जी, जगदीश चौक सीटी पैलेस रोड उदयपुर में	77770/-
1	साधारण मरम्मत व रंग-रोगन कार्य। मंठ श्री श्यागसुन्दर जी, जगदीश चीक सीटी पैलेस रोड उदयपुर में साधारण मरम्मत व	77770/-
2	रंग-रोगन कार्य। रंग-रोगन कार्य। मंठ श्री जगतशिरोमणी जी, जगदीश चीक सीटी पैलेस रोड उदयपुर में साधारण मरम्मत व	78445/-
3	गंग-रोगन कार्य। मंग श्री गोकुल चन्द्रमाजी, जगदीश चीक सीटी पैलेस रोड उदयपुर में साधारण मरम्मत व	79300/-
4	म0 श्री गांबुल घन्द्रमाणें अन्यार रंग-रोगन कार्य। मंठ श्री वृन्दावन चन्द्रमा जी, जगदीश चींक सीटी पैलेस रोड चंदयपुर में साधारण मरम्मत	79300/-
5	म0 श्री वृन्दावन वन्द्रमा जा, जनवार व रंग-रोगन कार्य। मं0 श्री जगन्नाथ राय जी(जगदीश मंदिर) जगदीश चौक सीटी पैलेस रोड उदयपुर में	79300/-
6	साधारण मरम्मत व रग-रागन काय। मंत्र श्री जवान सरज बिहारी जी (बांके बिहारी जी) जगदीश गणगोर घाट रोड उदयपुर में	79300/-
7	साधारण मरम्मत य रंग-रोगन कार्य। मंठ श्री जवान रचरुप बिहारी जी, जगदीश चौक में साधारण मरम्मत व रंग-रोगन कार्य।	79300/-
8	मंठ श्री जवान स्वरुप विहास जो, जनपार पा मंठ श्री सरदार स्वरुप स्वाम जी,(मांजी का मंदिर)मांजी का घाट उदयपुर।	79300/-
9	म0 श्री सरदार स्वरुप स्वान जात्। म0 श्री जगनेश्वरजी महादेव व मुपोश्वर जी, बोरसली घाट , पीछोला खदयपुर।	91610/-
10	० ० - चेन्य की जांडाकेल सदयपर में साधारण मरम्मत एवं रंग-रोगन काय।	92630/-
11	मं0 श्री असयरवरूप बिहारी जी, माजी का बायडी घटाघर राज न साजर	79300/-
12	रंग-रोगन कार्य ।	79300/-
13	मंठ श्री भदनमोहन घाटी घाणेराव की घाटी उदयपुर में साधारण गरमाव एव	79300/-
14	कार्य । ====================================	77810/-
15	कार्य । अ मंठ श्री हनुमान जी, कोर्ट चीराहा,उदयपुर में साधारण मरम्मत एवं रंग-रोगन कार्य ।	81920/-
16	क को को को वर्ष विस्तास सदयपुर में साधारण मरम्मत एवं रग-रागन काय	78200/-
1	मंठ श्रीएजन स्वरूप विहारी जी, गोवर्द्धन विसास, चंदयपुर म साधारण नरनात ६५	78100/-
-	 ११०—रोगन कार्य । मं0 श्री भोजनाथ महादेव जी, एम.वी. कॉलेज के पास, उदयपुर में साधारण मरम्मत एवं 	78470/-
1	9 रंग-रोगन कार्य । 0 मंठ श्री बेजनाथ जी, शिसारमा, उदयपुर में साधारण मरम्मत एवं रंग-रोगन कार्य ।	91060/-
-	a a क्या जी अस्तरवास सदयपर में साधारण मरम्मत एवं रंग-रोगन कार्य ।	78770/-
-	के जानमार्थन जवयपर में साधारण मरम्मत एवं रेग-रोगन काय ।	78900/-
-	22 म0 श्री जावरमाता जा, जायरभद्र स ७२०५	1775155/
_	महायोग:- (A+B)	3635377/



प्रत्येक मंदिर में किये जाने वाले कार्यों की "जी शिड्यूल" अलग-अलग होकर निविदा प्रपत्र के साथ संलग्न है। संवेदक को "जी शिड्यूल" में अंकित कार्य अनुसार ही मरम्मत कार्य करवाया जाना है।

निविदा हेतु पात्र संवेदकों की श्रेणी 3

एए श्रेणी संवेदक किसी भी सीमा तक ए श्रेणी संवेदक रूपये 300 लाख तक वी श्रेणी संवेदक रूपये 150 लाख तक सी श्रेणी संवेदक रूपये 50 लाख तक डी श्रेणी संवेदक रूपये 15 लाख तक

धरोहर राशि निविदा प्रपन्न में दर्शाई गई कुल अनुमानित लागत की 2 प्रतिशत होगी जो नियमानुसार सहायक आयुक्त देवस्थान विमाग उदयपुर के नाम देय होगी।

निविदा प्रपत्रों हेतु आवेदन/डाउनलोड की अवधि दिनांक 29.07.2023 प्रातः 11.00 वजे से 5 दिनांक 07.08.2023 प्रातः 11.00 यजे तक होगी।

- निविदा प्रपत्र इलेक्ट्रोनिक फॉरमेट में वेवसाईट htpp:// eproc.rajasthan.gov.in पर 5(अ) दिनांक 29.07.2023 प्रातः 11.00 .बजे से दिनांक 07.08.2023 दोपहर 1.00 बजे तक जमा कराये जा सकते है। प्राप्त निविदायें, इलेक्ट्रानिक फारॅमेट में वेवसाईट htpp:// eproc.rajasthan.gov.in पर सहायक आयुक्त कार्यालय में दिनांक 08.08.2023 को अपरान्ह 12.30 यजे खोली जायेगी। यदि किसी कारणवश उस दिन अवकाश रहता है तो अगले दिन उसी समय व उसी स्थान पर निविदायें खोली जाएगी।
- निविदा जमा करवाने के बाद निविदा की समस्त प्रकिया ऑन लाईन होगी। 5(ब)
- निविदा खोलने की तिथि को किसी कारण वश यदि निविदायें नहीं खोली जा सकती है, तो **5(स)** उसके अगले कार्य दिवस प्राप्त निविदाएँ खोलने का कार्य जारी रखा जावेगा।
- कार्य करने हेतु कार्यस्थल उपलब्ध है। 6
- कार्यों के सम्मुख उपरोक्तानुसार यर्णित कार्यालय में संवेदक द्वारा दिनांक 29.07.2023 7 प्रातः 11.00 बजे से दिनांक 07.08.2023 दोपहर 1.00 बजे तक किसी भी कार्य दिवस में निविदा प्रपत्र को देखा जा सकता है अथवा htpp:// eproc.rajasthan.gov.पर भी देखा जा सकता है। निविदा प्रपन्नो में निविदाकर्ता के लिए योग्यता सूचना तथा निविदाकर्ता की पात्रता प्लान, स्पेसिफिकेशन, ड्राईंग विभिन्न कार्यों की मात्रा एवं दरों का विवरण नियम शर्त एव अन्य विवरण वर्णित है।

निविदादाता द्वारा निविदा शुल्क/धरोहर राशि के डिमाण्ड ड्राफट अथवा निविदा प्रपत्रों में वर्णित किसी प्रकार के रूप में शुल्क इस कार्यालय में दिनांक 07.08.2023 को सायंकाल 6.00 वजे तक जमा कराना आवश्यक है। निविदा शुल्क तथा घरोहर राशि के डिमाण्ड ड्राफट सहायक आयुक्त, देवस्थान विभाग, उदयपुर में जमा करानी होगी। लिफाफे के उपर कार्य का नाम लिखना आवश्यक होगा।

निविदा खोलने की दिनांक से 90 दिवसों तक निविदा स्वीकृति हेतु मान्य (Open) रहेगी। 9 यदि निविदाकर्ता उस अवधि में अपनी निविदा अथवा शर्तों में किसी प्रकार का संशोधन करता है अथवा अपनी निविदा पापस ले लेता है, तो उसकी धरोहर राशि जब्त कर ली जावेगी।

Udaipur

- 10 यदि संवेदक का नजदीकी रिश्तेदार (प्रथम रक्त संबंध व उनके पित/पित्न) कार्य से संबंधित वृत्त अथवा अधीनस्थ कर्या में खण्डीय लेखाकार अथवा सहायक आयुक्त/सहायक अभियन्ता का किसी भी स्तर पर पदस्थापित हो तो उसके कार्य पर नियुक्त करने पर प्रतिबन्ध रहेगा।
- राज्य सरकार में किसी भी अभियांत्रिकी विभाग में किसी भी इंजीनियर अथवा इंजीनियरिंग या प्रशासनिक कार्य पर नियुक्त राजपत्रित अधिकारी राज्य सरकार की अनुमित के बिना सेवा निवृति के 2 वर्ष तक संवेदक अथवा उसके कर्मचारी के रूप में कार्य नहीं कर सकेगें। यदि संवेदक व उसके कर्मचारियों में कोई ऐसा व्यक्ति जिसने राज्य सरकार की उक्त लिखित अनुमित निविदा जमा कराने से पहले अथवा संवेदक के यहाँ सेवाएँ लेने से पहले अनुमित नहीं ली है तो अनुबन्ध रदद किया जा सकेगा।
- 12 निविदादाता इन प्रपत्रों को (Download) कर सकते है। निविदादाता द्वारा निविदा शुल्क नकद अथवा डिमाण्ड ड्राफट के रूप में संबंधित कार्यालय मे निर्धारित तिथि तक जमा कराना आवश्यक है।
- 13 किसी भी निविदा को स्वीकार करने एवं बिना कारण बताये निरस्त करने के समस्त अधिकार सक्षम अधिकारी के पास सुरक्षित है। संवेदक को R.P.W.A.—100 की समस्त शर्ते मान्य होगी
- 14 संवेदक द्वारा उक्त कार्यों के लिए निर्धारित मशीनरी जो निविदा कि स्पेशल कंडीशन में वर्णित है, को स्वयं के पास होने या किराये पर लेने का प्रमाण पत्र देना होगा।
- 15 वित्त विभाग के आदेश कमांक एफ 1(1)एफडी/जी.एफ.एण्ड ए. आर./2007 दिनांक 30.09.2011 (सर्कुलर नं. 11-2011) के अनुसार 500/- रूपये की राशि निविदा शुल्क के अतिरिक्त देनी होगी, जो डिमाण्ड ब्राफट या बैंकर चैक के रूप में देय होगी। यह डिमाण्ड ब्राफट या बैंकर चैक <u>मैनेजिंग डायरेटर, आर.आई.एस.एल. के पक्ष में</u> जयपुर में मुगतान योग्य होना चाहियें।
- 16 कार्य पूर्ण करने की अविध में मानसून अविध सम्मिलित है।
- 17 ई टेण्डरिंग के लिए निविदादाता हेतु निर्देश-

अ इन निविदाओं में दिलचस्पी लेने वाले निविदा दाता निविदा प्रपत्रों का इन्टरनेट साईठ htpp://eproc.rajasthan.gov.in से Download) कर सकते है।

व निविदाओं में भाग लेने वाले निविदादाताओं को इन्टरनेट साईट htpp:// eproc. rajasthan.gov.in पर रिजस्टर करवाना होगा। ऑनलाईन निविदा में भाग लेने के लिए डिजिटल सर्टिफिकेट इनमोरमेशन टेक्नोलॉजी एक्ट 2000 के तहत प्राप्त करना होगा जो इलेक्ट्रोनिक निविदा में साइन करने हेतु काम आयेगा।

निविदादाता उपरोक्त डिजिटल सर्टिफिकेट सी सी ए (C C A) द्वारा स्वीकृत एजेन्सी से प्राप्त कर सकते है। जिन निविदादाताओं पास पूर्व में वैध डिजिटल सर्टिफिकेट है, नया डिजिटल सर्टिफिकेट लेने की आवश्यकता नहीं है।

स नियिदादाताओं को निविदा प्रपन्न इलेक्ट्रोनिक फार्मेट में उपरोक्त वेबसाईट पर डिजिटल साईन के साथ प्रस्तुत करना होगा। जिसके प्रस्ताव डिजिटल साइन के साथ नहीं होगें। उनके प्रस्ताव स्वीकार नहीं किये जायेगें। कोई भी प्रस्ताव अकेले भौतिक फार्म में स्वीकार नहीं होगा।

Udaipur

ऑनलाईन भिविदाएँ भिर्वारित दिनांक एवं समय पर खपरोवत कम संख्या – 3 अ के अनुसार T. छोली जावेगी।

इलेक्ट्रानिक निविदा प्रपन्नों के जमा कराने से पूर्व निविदादाता यह सुनिश्चित कर लेवे की निविदा प्रपत्नों से संबंधित सभी आवश्यक वस्तावेजों की स्कंन कॉनी निविदा प्रपत्नों के साथ 71 अटैच कर दी गयी है।

कोई भी टेण्डर इलेक्ट्रोनिक जमा कराने में किसी कारण खेट हो जाता है, तो उसका 7

जिम्मेदार विभाग नहीं होगा।

टेंडर के प्रपत्नों में आवश्यक राभी युचियों को संपूर्ण रूप से भरकर ऑनलाईन वर्ज करें। ल

वैध्यता अवधि का रोलटैनरा वलीयरेन्स सर्टिफिकेट प्रस्तुत करना छोगा। 18

वर्तमान में प्रचलित वाजार दर से दर विश्लेषण करने पर गृहा सशि में जो अन्तर (नीयं 19 दर) आयेगा वो (अनवेलेन्स राशि) संवेदक को जमा कराना होगा।

राज्य रारकार के वित विभाग/RTPP नियम /PWF & FR के संबंध में रामय-रामय पर 20

जारी आदेश/परिपन्न प्रमावी रहेगें।

(जतीन कुगार गांधी) राहायक आयुक्त देवरथान विभाग

उदयपुर विनांक: -24/025

क्रमांक :एपा३()लेखा/देव/चदय/2023/2५५२~58 प्रतिलिपि :- निम्न लिखित को सूचनार्थ एवं आवश्यक कार्यवाही हेतु प्रेवित है -

श्रीमान् आयुक्त महोदय, देवस्थान विभाग, राजस्थान – उदयपुर।

श्रीमान् अधीक्षण अभियन्ता, सार्वजनिक निर्माण विभाग उदयपुर। 2

सहायक अभियन्ता गु० देवरथान विभाग, राजरथान – उदयपुर। 3

निरीक्षक, देवरथान विभाग –सदयपुर 4

कम्प्यूटर शाखा प्रभारी, प्रधान कार्यालय, उदयपुर के पास निविदा सूचना को विभागीय 5 वेबसाईट अपलोख किये जाने छेतु प्रेपित है।

नोटिस बोर्ड, कलेक्ट्री कार्यालय - चदयपुर। 6

नोटिस बोर्ड,गुख्यालय/ कार्यालय हाजा।

सहियक आयुक्त देवरथान विभाग उदयपुर

ASSISTANT COMMISIONER DEVASTHAN, UDAIPUR

NAME OF WORK: Colour ,Repairing & Renovation work of Devasthan 22 self Supported type temples And 25 Direct charge Temples situated in Udaipur District.

SPECIAL CONDITIONS OF CONTRACT

 Tenders are hereby invited for repairing and renovation of government 22 self supported type temples and And 25 Direct charge Temples situated in Udaipur District.

 The schedule "G" is based on current BSR Building 2019 circle Udaipur i.e. integrated BSR w.e.f. BSR Building 2019 circle Udaipur 2019with up to date addendum therefore extra required to be

executed the BSR as above shall be applicable.

3. Earnest money deposited will be refunded separately after first Running bill applying through proper way. Contractor will not claim the refund earnest money before tender validity period. Earnest Money, @½% (half percent) for Assistant commissioner Devasthan UDAIPUR enlisted contractor and @2% (two percent) for others of the estimated cost of the work and Rs 1000/-Tender cost in the form of demand draft in favors of Assistant commissioner Devasthan UDAIPUR. Payable at UDAIPUR before the day one of the bid opening and evaluation fee for etendering amounting to Rs. 500/- will be on DD / BD in the name of MD RISL, Jaipur payable at Jaipur.

The rates quoted by the tenderer will remain in force up to 2 months from the date of tender.

 The contractor shall hand over the material received from excavation to the engineer in charge and in case of loss of material the same shall be recovered from contractor at the prevailing BSR rate however the contractor is fully responsible for the safe custody of material till the completion.

The cement produce from mini cement plant will not be allowed. The quality of cement to be used

should be approved from engineer-in-charge.

7. The acceptance of bid/tender shall vest with the competent authority as per schedule of powers in force at the time of sanction who does not bind himself to accept the lowest tender/bid and reserves to him the authority to reject any or all of the tenders/bids received without assigning a reason.

For legal dispute the jurisdiction will be state of rajasthan only.

- D.D., Registration Certificate, Bid, submission confirmation should be submitted in Assistant commissioner Devasthan UDAIPUR dated 97:48:23 up to 68m. before opening the tender.
- In case of any typographical error in unit/rates or specification, same will be governed by PWD Building BSR 2019 and Road 2019.
- 11. The rates quoted shall be inclusive of royalty sales Tax and other all taxes if any. The contractor shall abide by the labor Laws.
- Conditional tender shall not be considered.
- 13. Signature of Schedule "G" shall be treated as agreement between the department and the tender and would mean enforcement of standard terms and conditions.
- 14. All light/heavy machineries required for the work shall have to be arranged by the contractor at his own.
- 15. In case of any typographical error in Schedule "G" the current BSR shall be taken as correct.
- 16. All construction material and cement and steel shall be arranged by the contractor himself in including scaffolding etc.
- 17. The sample of the material to be used at site should be got approved in advance by the Engineer in charge.

Udaipur

M

- 18. All the arrangements required for testing of materials shall have to be done by the contractor.
- 19. The useful dismantled material will be used by the contractor and cost will be recovered accordingly by the contractor.
- 20 कार्य का गुणात्मक रतर बनाया रखा जाना आवश्यक है अतः कार्य प्रारम्म करने से पूर्व तकनिकी अधिकारी से पूर्ण रूप से मार्गदर्शन प्राप्त करना आवश्यक होगा विभाग के दिशा निर्देशों के अनुसार किसी भी रिश्वित भेरवीकृत तकमीने से हटकर किये गये कार्य का कोई मुगतान नहीं किया जावेगा कार्य हेतु जारी Technical Report Estimate for the work detil and Abstract के अनुरूप ही करना होगा। G scheudle Estimate for the work जिसके अनुरूप कार्य का मुगतान किया जावेगा के क्रम में दिशा निर्देश तकनिकी अधिकारियों से प्राप्त करना होगा। G scheudle Estimate for the work प्रत्येक कार्य की जलग अलग प्रति कार्यालय नोटिस बोर्ड पर चस्पा कर दी गई है प्रत्येक कार्य की Technical Report Estimate for the work detail and Abstract of G scheudle Estimate for the work के सम्बन्ध में निविदा डाले जाने से पूर्व कोई भी जानकारी विमागीय तकनिकी अधिकारी से प्राप्त की जा सकती है, कार्य का मुगतान तकनिकी अधिकारी हारा किये गये कार्य के मुल्याकंन के अनुसार ही किया जावेगा। G scheudle Estimate for the work निविदा के साथ विमागीय वेबसाईट, sppp.raj.nic.in एवग् eproc.rajasthan.gov.in पर भी देखी जा सकती है।

All Terms and rules regulations/condition as per PWF&AR followed strictly be noted

Assistant Commissioner Devsthan UDAIPUR

I/We hereby undertake to complete the work with above conditions and in accordance with the Most detailed specifications which I/We have read and understood.

Signature of Contractor MobileNo and address

GOVERNMENT OF RAJASTHAN DEVASTHAN DEPARTMENT

OFFICE OF THE ASSISTANT COMMISSIONER DEVASTHAN DEPAARTMENT UDAIPUR

Financial - Bid NIT No. 03 /2023-24

NAME OF WORKS : Colour ,Repairing & Renovation

work of Devasthan 22 self supported type temples And 25 Direct charge Temples situated in

Udaipur District

APPROXIMATE COST : 36,35,377.00

EARNEST MONEY : 72700.00

COST OF TENDER : 1000.00

DATE OF DOWNLOADING : From 29-07-2023 (11-00 AM) To 07-08-2023 (11.00 AM)

LAST DATE OF SUBMISSION : 07-08-2023 (1.00 PM)

DATE OF OPENING : 08-07-2023 (At 12-30 PM)

COMPLETION PERIOD : 02 Months

MAY

Instructions and Information to bidder regarding Fee, EMD etc.,

S No	Name of work	Estimated Cost (in lacs)	Earnest Money (2%)	Tonder Foo (In Rs)	Period of Comp.	Date of Downloadin g	Last Date of online submission	Date of on line opening
1	9	3	4	5	6	7	8	9
1	Colour ,Repairing & Renovation work of Devasthan 22 self supported type temples And 25 Direct charge Temples situated in Udaipur District	36,35,377/-	72700/-	1000	2 months	29-07-2023	07-08-2023	08-08-2023

Jateen Kumar Gandhi Assistant Commissioner Devasthan Department Udaipur

Compliance with the code of integrity and No Confict of Interest

Any person participating in a procurement process shall- Not offer any bribe, reward or gift or any material benefit either directly or indirectly in exchange for an unfair advantage in procurement process or to otherwise influence the procurement process; Not misrepresent or omit that misleads or attempts to mislead so as to obtain a financial or other benefit or avoid an obligation; Not indulge in any collusion, Bid rigging or anti-competitive behavior to impair the transparency, fairness and progress of the procurement process; Not misuse any information shared between the procuring Entity and the Bidders with an intent to gain unfair advantage in the procurement process; Not indulge in any coercion including impairing or harming or threatening to do the same, directly or indirectly, to any party or to its property to influence the procurement process; Not obstruct any investigation or audit of a procurement process;

Disclose conflict of interest. If any and Disclose any previous transgressions with any Entity in india or any other country during the last three years or any debarment by any other procuring entity.

Conflict of interest:-

The bidder participating in a bidding process must not have a conflict of interest. A conflict of interest is considered to be a situation in which a party has interests that could improperly influence that party's performance of official duties or responsibilities, contractual obligations, or compliance with application laws and regulations. A Bidder may be considered to be in Conflict of interest with one or more parties in a bidding process if, including but not limited to: Have controlling partners/shareholders in common; or Receive or have received any direct or indirect subsidy from any of them;or Have the same legal representative for purpose of the Bid; or Have a relationship with each other, directly or through common third parties, that puts them in a position to have access to information about or influence on the Bid of another Bidder, or influence the decisions of the Procuring Entity regarding the Bidding Process: or The Bidder participates in more than one Bid in a bidding process. Participation by a Bidder in more than one Bid will result in the disqualification of all Bids in which the Bidder is involved. However, this does not limit the inclusion of the same subcontractor, not otherwise participation as a bidder, in more than one Bid; or The Bidder or any or its affiliates participated as a consultant in the preparation of the design or technical specifications of the Goods, Works or Services that are the subject of the Bid; or Bidder or any of its affiliates has been hired (or is proposed to be hired) by the procuring Entity as engineer-in-charge/ consultant for the contract,

Date: Place:

Signature of bidder Name:

Designation: Address:

Annexure B:

Declaration by the Bidder regarding Qualifications Declaration by the Bidder

I/we hereby declare under Section 7 of Rajasthan Transparency in Public Procurement Act, 2012, that:

I/we possess the necessary professional, technical, financial and managerial resources and competence required by the Bidding Document issued by the Procuring Entity;

I/we have fullfilled my/our obligation to pay such of the taxes payable to the Union and the state Government or any local authority as specified in th Bidding Document;

I/we are not insolvent, in receivership, bankrupt or being wound up, not have my/our affairs administered by a court or a judicial officer, not have my/our business activities suspended and not the subject of legal proceedings for any of the foregoing reasons:

I/we do not have, and our directors and officers not have, been convicted of any criminal offence related to my/our professional conduct or the making of false statement or misreprentations as to my/our qualifications to enter into a procurement contract within a period of three years preceding the commencement of this procurement process, or not have been otherwise disqualified pursuant to debarment proceedings;

I/we do not have a conflict of interest as specified in the Act, Rules and the Bidding Document, which materially affects fair competition;

Date: Place:

Signature of bidder Name: Designation: Address: The designation and address of the First Appellate Authority is Commissioner Devasthan Department Udaipur.

The designation and address of the Second Appellate Authority is Sec. Devasthan Department, Secretariate Rajasthan, Jaipur

Filling an appeal:- If any Bidder or prospective bidderis aggrieved that any decision, action or omission of the Procuring Entity is in Contravention to the provisions of the Act or the Rules or the Guidelines issued thereunder, he may file an appeal to first appellate Authority, as specified in the Bidding Document within a period of ten days from the date of such decision or action, omission, as the case may be, clearly giving the specific ground or grounds on which he feels aggrieved:

Provided that after the declaration of a Bidder as successful the appeal may be filed only by a Bidder who has participated in procurement proceedings. Provided further that in case a Procuring Entity evaluates the Technical Bids before the opening of the Financial Bids, an appeal related to the matter of Financial Bids may be filed only by a Bidder whose Technical Bid is found to be acceptable. The officer to whom an appeal is filed under para (1) shall deal with the appeal as expenditiously as possible and shall endeavour to dispose it of within thirty days from the date of the appeal.

If the officer designated under para (1) fails to dispose of the appeal filed within the period specified in para (2), or if the Bidder or prospective bidder or the Procuring Entity is aggrieved by the order passed by the First Appellate Authority, the Bidder or Prospective bidder or the Procuring Entity, as the case may be, may file a second appeal to Second Appellate Authority specified in the Bidding Document in this behalf within fifteen days from the expiry of the period specified in para (2) or of the date of receipt of the ordre passed by the First Appellate Authority, as the case may be.

Appeal not to lie in certain cases

No appeal shall lie against any decision of the Procuring Entity relating to the following matters, namely:- Determination of need of procurement Provisions limiting participation of Bidders in the Bid process. The decision of whether or not to enter into negotiations. Cancellation of a procurement process. Applicability of the provisions of confidentiality.

Form of Appeal:- An appeal under para (1) or (3) above shall be in the annexed Form along with as many copies as there are respondents in the appeal. Every appeal shall be accompanied by an order appealed against. If any, affidavit verifying the facts stated in the appeal and proof of payment of fee. Every appeal may be presented to First Appellate Authority or Second appellate Authority, as the case may be, in person or through registered post or authorised representative.

Fee for filing appeal:- Fee for first appeal shall be rupees two thousand five hundred and for second appeal shall be rupees ten thousand. Which shall be non-refundable. The fee shall be paid in the form of bank demand draft or banker's cheque of a sheduled Bank in India payable in the name of Appellate Authority concerned.

Procedure for disposal of appeal:- The First Appellate Authority or Second Appellate Authority, as the case may be, upon filing of appeal, shall issue notice accompanied by copy of appeal, affidavit and documents, if any, to the respondents and fix date of hearing. On the date fixed for hearing, the First Appellate Authority or Second Appellate Authority, as the case may be, shall:-

(i) hear all the parties to appeal present before him: and

(ii) peruse of inspect documents, relevent records or copies thereof relating to the matter.

After hearing the parties, perusal or inspection of documents and relevant records or copies there of relating to the matter, the Appellate Authority concerned shall pass an order in writing and provide the copy of order to the parties to appeal free of cost.

The order passed under sub-clause (c) above shall also be placed on the State Public Procurement Portal.



Form No. 1 (See rule 83) Memorandum of Appeal under the Rajasthan Transparency in Public Procurement Act, 2012

Appeal No0101
Before (first/second Appellate Authority)
Particulars of appellant:
(i) Name of the appellant:
(ii) Official address, if any:
iii) Residential address:
m) Kesidentiai address:
Name and address of the respondent (s):
i)
ii)
iii)
(111)
Number and date of the order appealed against and name and designation of the officer/authority who passed the order (enclose copy), or a statement of a decision, action or omission of the Procuring Entity is contravention to the provisions of the Act by which the appellant is aggrieved. If the Appellant proposes to be represented by a representative, the name and postal address of the representative:
Number of affidavits and documents enclosed with the appeal
Grounds of appeal
(Suppoted by an affidavit)
Prayer
Place
Date
Appellant's Signature
TEL TOTAL STREET

Correction of arithmetical errors

Provided that a Financial Bid is substantially responsive, the Procuring Entity will correct arithmetical errors during evaluation of Financial Bids on the following If these is a discrepancy between the unit price and the total price that is obtained by multiplying the unit price and quantity, the unit price shall prevail and the total price shall be corrected, unless in the opinion of the Procuring Entity there is an obvious misplacement of the decimal point in the unit price. In which case the total price as quoted shall govern and the unit price shall be corrected. If there is an error in a total corresponding to the addition or subtraction of subtotals. The subtotals shall prevail and total shall be corrected: and If there is a discrepancy between words and figures, the amount in words shall prevail, unless the amount expressed in words is related to an arithmetic error, in which case the amount in figures shall prevail subject to (i) and (ii) above. If the Bidder that submitted the lowest evaluated Bid does not accept the correction of errors. Its Bid shall be disqualified and its Bid Security shall be forfeited or its Bid securing Decleration shall be executed.

Procuring Entity's Right to Vary Quantities

(i) At the time of award of contact, the quality of Goods, Works or services originally specified in the bidding Document may be increased or decreased by a specified percentage, but such increase or decrease shall not exceed twenty percent. Of the quantity specified in the Bidding Document. It shall be without any change in the unit prices or other terms and conditions of the Bid and the conditions of contract.

(ii) if the procuring Entity does not procure any subject matter of procurement or procures less than the quantity specified in the Bidding Document due to change in circumstances, the Bidder shall not be

entitled for any claim or compensation except otherwise provided in the conditions of Contract.

(iii) In case of procurement of Goods or services, additional quantity may be procured by placing a repeat order on the rates and conditions of the original order. However, the additional quantity shall not be more than 50% of the value of Goods of the original contract and shall be within one month from the date of expiry of last

Dividing quantities among more than one Bidder at the time of award (In case of procurement of Goods)

As a general rule all the quantities of the subject matter of procurement shall be procured from the bidder. Whose Bid is accepted. However, when it is considered that the quantity of the subject matter of procurement to be procured is very large and it may not be in the capacity of the Bidder, whose Bid is accepted, to deliver the entity quantity or when it is considered that the subject matter or procurement to be procured is of critical and vital nature, in such cases the quantity may be divided between the Bidder, whose bid is accepted and the second lowest Bidder or even more manner at the rates of the Bidder, whose Bid is accepted.

Date: Place: Signature of bidder Name: Designation: Address:

Estimated Earnest Money Tender Period Date of Selling Cost 2% Fee Selling

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI PALA GANESH JI, DUDH TALAI ROAD, UDAIPUR.(RAJ.)

SCHEUDLE "G "

{Based on	P.W.D. B.S	R.2022}
Date	Unit	Amount

			Dete.	Unit	Amount	
S.	Particular	Quantity	Rate		Nº400	
No L	Carriage of earth/building material and road material etc. by manual or by mechanical transport including loading	6.00 cum	240.00	p.cum	1440.00	
2.	unloading etc. (lead for 20 km)	0,00				
	fine sand) including removal of old plaster in regular shade and white or colour washing.	50.00 sqmt	235.00	p.sqmt	11750.00	
3.	Repair to stone masonry in cement sand mortar 1:6 with old	35.00sqmt	318.00	p.sqmt	11130.00	
٥.	and new stones.					
4.	Dismantling of old plaster or skirting stating disposal of cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	50,00 sqm	15.00	p.sqmt	750.00	
5.	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy	400.00sqm	80.00	p.sqmt	32000,00	
6.	complete in all respect. Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on	200.00sqmt	69.00	p.sqmt	13600.00	
7.	new work. old work (one or more coats) including scrapping and priming coat and necessary repairs.	400.00sgm	22,00	p.sqmt	8800.00	
	printing coax and account	400,000		Total Rs.	79470.0	

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Cost

Earnest Money 2%

Tender Fee

Period

Date of Selling Date of Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI PRATAPNARAYAN JI , UDAIPUR. (RAJ.)

SCHEUDLE "G "

brand and ma	with plastic emulsion paint of approved sufacture to give an even shade. New work			1 1	
Construction (I)	diguitation of the state of the	50.00sqm	80,00	p.sqmt	4000.00
111 Page 110	respect. A brand and		69.00	p.sqmt	3450.0
manufacture new work.	enamel paint of approved by the coats on give an even shade. Two or more coats on the or more coats) including scrapping and and necessary repairs.	50,00sqmt 1 100,00sqm		p.sqmt Total Rs.	2200.0 9650.

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

_% Above /below 1/We hereby agreed to completed the above work @ -the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Earnest Money Tender Period Date of Receipt

Cost 2% Fee Selling Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI MATA JI KARNI JI AT UDAIPUR.RAJ.)

SCHEUDLE "G "

		Quantity	Rate	Unit	R.2022} Amount	
1	Particular					
	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.	50.00sqm	80.00	p.sqmt	AFAIA	
2.	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on	50.00sqmt	69.00	p.sqmt	3450.00	
3.	new work.	100.00sgm	22.00	p.sgmt Total Rs	2200.0 9650.0	

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Cost

Earnest Money 2%

Tender Fee

Period

Date of Selling Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI KUMKUMESHWAR JI MAHADEV UDAIPUR. (RAJ.)

SCHEUDLE "G"

	Quantity	Rat	e	Unit	R.2022} Amount
Particular Carriage of earth/building material and road material etc. Carriage of earth/building material and road material etc.		24	0.00	p.cum	1440.00
by manual in a conduction of the second conduction is a conduction of the conduction	6.00 cum	T	o-mark	p.sqmt	16450.00
fine tand) management	10000	1	35.00	p.sqmt	11130,0
Peppir to stone massery in cement sand mores 1:6 with obtained new stones. And new stones. Discrepting of old plaster or skirting raking out joints an observability of old plaster or skirting raking out joints an observability of old plaster or skirting raking out joints an observable of old plaster including disposal observable to the dumping ground within 50 meter lead.	of 200,00 s		15.00	p.sqm	3000.
rubbith or an abustic emulsion paint of appro-	ork	ermi.	80.00	p-sqn	nt 36000
including properation of base with	and		69.00	p.sq	mt 1360
6. Painting with enamel paint of approved brand manufacture to give an even shade. Two or more cost new work (one or more costs) including scrapping of the priming cost and necessary repairs.	200.0 and	00sqm	1	p.se	qmt 1100 al Rs. 926

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

-% Above /below 1/We hereby agreed to completed the above work @ the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Cost Exrnest Money 2% Tender Fee Period

Date of Selling Date of Receipt



SCHEUDLE "G "

NAME OF WORK: -REPAIR WORK OF TEMPLE SHRI UDAISHYAM JI AND MURLI MANOHAR JI ,FIRANGI GHAT, UDAIPUR (RAJ.)

			, mire		II ,FIRANGI GHA			I R	ate	Unit		Amou	ista.
			_			Q	uantity	100		22.00.00		_	-
		lar		a bottelle	or motorial and ro	be		1				22	00.00
11	riaș eri	gs al et	of eart c. by mar	ne bunda and or by	ng material and ro mechanical transports (lead for 20 km)	ort 6.	00 cum	2	40.00	p.cu	m	144	10.00
10	had	r to	cement t	daster in	cement mortar 1:6	old					um!	94	00,00
d	ant	er 1	u tesmin	Borney.	And the same of th	· · · · · · · · · · · · · · · · · · ·	40.00 sqmt	-	35,00	p.50	500	-	80.00
4	VSt.	ning	o stone m	asonry in	cement sand mortar	120	10.00sqmt	4	318.00	p.50	qmt	-3.	80.00
-	Will	h sale	tion of	old plaste	r or skirting ,raking	ding		. \	15.00	p.s	igmt		600.00
1	di	spos seter Vall	lead.	with p	dastic emulsion pai	nt of even	40.00 sqm		80.00	p.	sqmt	24	00,000
	1	shad with	e. New v	my lippy o	complete in all respec-	nd und	-		69.00	p	somt		8280.00
	1				e coats) including so secessary repairs.				22.00	1	.sqmt	1	6600.00
H		an W	d printing ring of I with 1.5 exible out R PVC in CV grade SI marke accessorie earth ter neutral le 6.4 swite	ght p./far Sq.mm I oper conder sulated fl 15: 694 of d medium s round minal ser- coping in the 3.0 mm	n pt/exhaust tan pt/c R PVC insulated un 1.1 KV grade and 1. exible copper earth of app. Make in surface in duty PVC condu- tiles 18 SWG M.S ew less cage conn- switch board & false of thick phenolic lamin serews cup washer etc. as reqd, Gr.1 Short Point (sheather 5 Sq.mi ondr. 1 Introcess it & box weeters reiling stated she make the state of the sta	d m 1.1 ed its ith for pt. neet cing Mtr) 20 N 20 N	05	312	2.12 2.75 8.75	Each Eacl Eac	h h	3982.0 6255.0 8775.0 72512.0
	1				Medium Point (Long Point (u	o to 10	Mtr) 20 N	05	1.45	-		Tota	Total Rs.

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur,

the "G" Schedule

SIGNATURE OF CONTRACTOR CLASS: ADDRESS

OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTRAS, CHARLES, CO.



Estimated Cost

Enruest Money Tender 2%

¥66

time of Verior SATURY Shik of Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI HAMISMAN II, MAIN KE MANDIR KE PASS, UDAIPER (RAL)

SCHEUDLE "G "

			Guestity	20	10	W.D. K.A. Laie	Amount
T	Par	licular		H			
	Car	riage of earth/building material and road material etc. manual or by mechanical transport including leading.	60000	21	9)16)	3000	166556
	100	Inading etc. (sean to 20 coment mortar 1.6.) I sement 6 cpair to cement platter in sement mortar 1.6.) I sement 6 cpair to cement platter in regular shade			95.00	p open	(4595.M)
	4.50	nd white or colour washing. Repair to stone masonry in coment and mediar 1:6 with e86	state ogni	T	18.56	5.0901	111190,00
3		Repair to stone masked in constant and new stones. Dismantling of old plaster or skirting raking out yields and cleaning the surface for plaster including dispress of rubbish to the dumping ground within \$1 mater lead.		T	15.00	5 agest	99535
1	5.	wall painting with plastic emulsion paint of accesses brand and manufacture to give an even shade. New and including preparation of bote with primer party loss including preparation of bote with primer party loss including preparation.	d o		857/1	5 segnt	5449171
		including property	64		10100	p.signt	6900.5
	6.	Painting with enamed paint of appeared to manufacture to give an even shade. I wo or more come new work. old work (one or more costs) including scrapping a priming cost and necessary repairs.				2 mgm	5600

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devautian, Udaigur.

1/We hereby agreed to completed the above work @ --the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

DC.(25)

OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTHAN, UDAIPUR,

Estimated Earnest Money Tender Period Date of Selling Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI ANNPURNA JI, NAGA NAGARI, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

		(Based on 1.			THE REAL PROPERTY.	1 mount
_		ticular	Quantity	Rate	Unit	Amount
10		to the constant and read material etc.		il Nesurene	No.	1440.00
•	by	manual or by mechanical transport are	,00 cum	240,00	p.cum	
2.	R	epair to cement plaster in cement moust on sand) including removal of old plaster in regular shade		235.00	p.sqmt	11750.00
أساران	a	nd white or colour washing. Repair to stone masonry in cement sand mortar 1:6 with old	50,00 sqmt	318.00	p.sqmt	12720.00
3.	- 13	and new stones. Cluster, rating out joints and	40,00sqmt	318.00		
14.	1	Dismantling of old plaster or skirting staking disposal of cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	100,00 sqm	15.00	p.sqmt	1500.00
1	5.	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work brand and preparation of base with primer putty lippy	250.00sqm	80.00	p.sqmt	20000,00
1	6.	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats or	1	69.00	p.sqmt	4140.00
	7.	new work.	d 250.00sqn	-7 07:00 Pay	p.sqmt	5500.0
	1	beiming cont and invest	230,000		Total Re	57050.0

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

OFFICE OF	THE AGORDAN		Period	Date of	Date of Receipt
Estimated Cost	Earnest Money 2%	Tender Fee	101.00	Selling	Receipt

NAME OF WORK: - - REPAIR WORK OF TEMPLE SHRI HANUMAN JI, MAHAL WALA, HARIDAS JI KI MAGRI, UDAIPUR.(RAJ.)

SCHEUDLE "G "

			sed on P.	Unit	Amount
		Quantity	Rate		
	riage of earth/ building material and road material etc.		240.00	p.cum	1440,00
Car	riage of earth/ building material and road material and road manual or by mechanical transport including loading material and road material and	6,00 cum	240.00		
by	manual or by filectonia. loading etc. (lead for 20 km) loading etc. (lead for 20 km) epair to cement plaster in cement mortar 1:6 (1 cement: 6 epair to cement plaster in cement: 6 epair to cement plaster in cement mortar 1:6 (1 cement: 6 epair to cement: 6 epair to cement plaster in cement mortar 1:6 (1 cement: 6 epair to cement: 6 epair to cement plaster in cement: 6 epair to cem			p.sqmt	11750.00
1 17	ne sand) (new	50.00 sqmt	235.00		12720.00
21	ne sand) including a sand including a sand white or colour washing.	40.00sqmt	318.00	p.sqmt	
3.	Repair to stone masonry in cement sand mortar 1:6 with old and new stones. Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of cleaning the dumping ground within 50 meter lead.	40.0039		p.sqmt	1500.00
4.	Dismanting of Surface for plaster including the surface for plaster including 50 meter lead.	100.00 sqt	n 15.00	-	
	rubbisar to an approved approved approved	(1)	se 00	p.sqmt	32000.0
5.	brand and the tion of base with		m 80,00	-	
1	including Paragraphy and and and	rd I	ent 69.00	p.sqmt	10350.0
6.	Painting with enamel paint of approved brand at manufacture to give an even shade. Two or more coats of new work. old work (one or more coats) including scrapping a	nd 15030030		p.sqm	8800.
1	new work. old work (one or more coats) including scorp- priming coat and necessary repairs.	400,00s	qm 22.00	Total I	Rs. 78560.

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

_% Above /below I/We hereby agreed to completed the above work @ the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

OFFICE OF	THE ASSISTEM		posind	Date of	Date of
	Earnest Money 2%	1999	Period	Selling	Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI NAVALSHYAM JI, JAGADISH CHOWK, UDAIPUR. (RAJ.)

SCHEUDLE "G "

		(Ba	sed on P.	Unit	3.S.R.2022] Amount	
		Quantity	Rate			
	arriage of earth/ building material and road material etc.		240,00	p.cum	1440.00	
10	arriage of earth/building material and road material y manual or by mechanical transport including loading transport including loading	6.00 cum	240,00			
1.8	y manual or by file of the manual or of the m		235.00	p.sqmt	16450.00	
2.	fine same) meanshing.	70.00 sqmt	235,00		11130.00	
1	fine sand) increasing and white or colour washing.	35.00sqmt	318.00	p.sqmt		
3.	Repair to stone masonry in cement sand mortar 1:6 with old and new stones. Dismantling of old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of cleaning the surface for plaster including disposal of cleaning the surface for plaster including the surface for plaster including disposal of cleaning disposal disposal of cleaning disposal disposal disposal disposal disposal di	33,000	15.00	p.sqmt	1050.00	
1	rubbish to the dumping ground within 200 paint of approved	10,000		p.sqmt	32000.0	
5.	including preparation of base with p	d		p.sqmt	8280.0	
1	Dulating with chames proposed Two of more com-	120.00sqr	nt 69,00	ракран		
1	manufacture coats) including scrapping ar	400,00sq	m 22.00	p.sqmt Total R	8800.0	
1	old work (one or more priming coat and necessary repairs.	400.0034		Total R		

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

---% Above /below 1/We hereby agreed to completed the above work @ ----the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Cost

Earnest Money 2%

Period Tender Fee

Date of Selling Date of Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI UMEDBIHARI JI AND HANUMAN JI, JAGADISH CHOWK, UDAIPUR. (RAJ.)

SCHEUDLE "G "

				{Ba Quantity	Rn	te I	V.D. B.S.I	Amount
1		rticu	ılar	Zummy	-			
0	C	arria	ge of earth/building material and road material etc. anual or by mechanical transport including loading	6.00 cum	24	40.00	p.cum	1440.00
	p	y ma mlos	ding etc. (lead for 20 km)	0.00 Carr	1			
2.	1	Repa	ir to cement plaster in cement motor to the sandy including removal of old plaster in regular shade		1,	35.00	p.sqmt	16450.00
1	1	and	white or colour washing. pair to stone masonry in cement sand mortar 1:6 with old	70.00 sqmt 35.00sqmt	1	318.00	p.sqmt	11130.00
3	and new stones. 4. Dismantling of old plaster or skirting raking out joints and				15.00	p,sqmt	1050.00	
\	5.	10	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New world brand and manufacture to give an even shade. New world brandwing preparation of base with primer putty lipp	10,00 sq	1	80.00	p.sqmt	32000.00
	1	6.	complete in all respect. Painting with enamel paint of approved brand ar manufacture to give an even shade. Two or more coats of	nd	qmt	69.00	p.sqmt	8280,00
	1	7.	new work.	nd	200		p.sqmt	8800.0
		1	priming cost and necessary repairs.	400.00	squa	24.00	Total R	

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

-% Above /below 1/We hereby agreed to completed the above work @ ----the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

Date of Date of Period Tender Receipt Varnest Money Selling Estimated Fee 2% Cost

NAME OF WORKE - REPAIR WORK OF TEMPLE SHRI HANUMAN JI, BADNOUR KI HAVELI, UDAIPUR (RAL)

SCHEUDLE "G "

	The second secon	Rate	14	W.D. B.S.	Amount
	Quantity	Peare			
Particular Carriage of earth/building material and road material etc.		240.	90	p.cum	1440.00
Carriage of earth/building material and road material by manual or by mechanical transport including loading by manual or (lead for 20 km)	6.00 cum	2400			
by manual or by unloading etc. (lead for 29 km) unloading etc. (lead for 29 km) Repair to cement plaster in cement mortar 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade fine sand) including removal of old plaster in regular shade.		235	00	p.sqmt	16450.00
(inc sand) includes washing	70,00 squ			p.sqmt	11130.00
and white or	35,00sqmt	318	.00	P.Squite	
3. Repair to stone masonry in cement sand mortar 1:6 with old and new stones. 4. Dismantling of old plaster or skirting raking out joints at cleaning the surface for plaster including disposal cleaning the surface for plaster including disposal of the sturping ground within 50 meter lead.	d of	١.	.00	p.sqmt	1050.00
rubbish to the dumping ground within 50 ment of approximation point	ed ork		00,00	p.sqmt	37600.00
including preparation of base was just	end	420		p.sqmt	13600.0
Painting with enumer phase. Two or more con-	200.005	qmt 6	9.00	Post	
manufacture to give an event new work. 7. old work (one or more coats) including scrapping priming coat and necessary repairs.	and 470.00	sgm :	2.00	p.aqmt Total R	10340.0 s. 91610.0

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

_% Above /below 1/We hereby agreed to completed the above work @ the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

NAME OF WORK: REPAIR WORK OF TEMPLE SHRI NAYA MAHADEV JI, UDAIPUR (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

		{D2	Sed on 1	. YY .D. D.D	Amount
. 1	Particular	Quantity	Rate	Unit	Amount
	Carriage of earth/building material and road material etc. by manual or by mechanical transport including loading	6.00 cum	240.00	p.cum	1440.00
2.	unloading etc. (lead for 20 km) Repair to cement plaster in cement mortar 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade and white or colour washing.	50,00 sqmt	235.00	p.sqmt	11750.00
3.	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.	40.00sqmt	318.00	p.sqmt	12720.00
4.	Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	50.00 sqm	15.00	p.sqmt	750.00
5.	brand and manufacture to give an even snade. New work including preparation of base with primer putty lippy complete in all respect.	300.00sqm	80.00	p.sqmt	24000.00
6.	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on	150.00sqmt	69.00	p.sqmt	10350.00
7.	and including comming and	300.00sqm	22.00	p.sqmt	6600.0
-				Total Rs.	67610.0

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

D.C (39)

Estimated Cost Earnest Money 2% Tender Fee Period

Date of Selling Date of Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI MATA JI KARNI JI, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

		Based on 3		T	Amount	
		Quantity	Rate	Unit	Amount	
1	Particular Carriage of earth/ building material and road material etc. Carriage of earth/ building material and road material etc.	6015 - 125 - 1			1440.00	
	t annual or by mechanical many	6.00 cum	240.00	p.cum		
2.	unloading etc. (lead for 20 km) unloading etc. (lead for 20 km) Repair to cement plaster in cement mortar 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade				16450.00	
	fine sand) including removal of old particles and white or colour washing.	70.00 sqmt	235.00	p.sqmt	V Exercises	
	Repair to stone masonry in cement sand mortar 1:6 with old	T.	318.00	p.sqmt	11130.00	
3,	Repair to stone masonry in centers and	35.00sqmt				
4.	and new stones. Dismantling of old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	70.00 sqm	15.00	p.sqmt	1050.00	
5.	with plastic emulsion paint of approved	400,00sqm	80.00	p.sqmt	32000.00	
6	complete in all respect.		69.00	p.sqmt	6900.0	
	new work.	100.0034			8800.0	
7	priming coat and necessary repairs.	400,00sqm	22.00	p.sqmt Total R	- CONTROL O	

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Cost

Earnest Money

Tender Fee

Date of Period Selling Receipt

SAME OF WORK: - REPAIR WORK OF TEMPLE SHRI VISHNU SHIV PAACHAYAT, AT UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

			(Based on 1			47.14	Amount
			Quantity	Ra	ite	Unit	
1		riage of earth/ building material and road material etc.		1		p.cum	2400.00
1	by	manual or by mechanical transfer of the leading etc. (lead for 20 km)	10.00 cu	m 2	00.04		
1	1 40		80.00 sqr	nt 2	35.00	p.sqmt	18800.00
\	1.	nd white or colour washing. Repair to stone masonry in cement sand mortar 1:6 with old			318.00	p.sqmt	11130.00
3.		Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of mithigh to the dumping ground within 50 meter lead.	80.00 >		15.00	p.sqmt	1200.00
1	5.	Wall painting with plastic emulsion paint of approve brand and manufacture to give an even shade. New we including preparation of base with primer putty tipe	500:00	hqm	80.00	p.sepnt	40000.00
	6.	complete in all respect. Painting with enamel paint of approved brand a manufacture to give an even shade. Two or more coats	on 100.0	Osqnt	69.00	p.scpnt	6900.00
	7.	new work.	and			p.sqmt	11000.0
	1"	priming cost and necessary repairs.	500.	00sqm	22/00	Total P	

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

% Above /below 1/We hereby agreed to completed the above work @ ---the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Earnest Money Tender Period Date of Selling Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI MAHADEV JI ,UMRAVGIRI KA MATH, DEHLI GETE, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

		11244			A commenced
			Rate	Unit	Amount
	Particular				
0	Carriage of earth/building material and road material etc. by manual or by mechanical transport including loading	6.00 cum	240.00	p.cum	1440.00
	unloading etc. (lead for 20 km)				
2.	unloading etc. (lead for 20 km) Repair to cement plaster in cement mortar 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade		235.00	p.sqmt	16450.00
	and white or colour washing.	70.00 sqmt	235,00	10000000	
3.	Repair to stone masonry in cement sand mortar 1:6 with old	35.00sqmt	318.00	p.sqmt	11130.00
3,	and new stones.				
4.	-c and plaster or skirting traking out journ	70.00 sqm	15.00	p.sqmt	1050.00
	trian point of approved				1
5.	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.	470.00sqm	80.00	p.sqmt	37600.00
L	t eviet of approved brand lists		1		
6	manufacture to give an even stade. Two	200.00sqmt	69.00	p.sqmt	13600.0
1	new work. old work (one or more coats) including scrapping and		i vennos		
	priming coat and necessary repairs.	470.00sqm	22.00	p.sqmt	10340.0
- 10	Maria Ma	THE RESERVE		Total Rs	91610.0

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Cost

Earnest Money 2%

Tender Fee

Period

Date of Selling Date of Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI MAHADEV JI ,UMRAVGIRI KA MATH, SURAJPOLE, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022} Amount Unit Rate Quantity Particular S. Carriage of earth/building material and road material etc. No 1440.00 by manual or by mechanical transport including loading p.cum 240.00 1. 6.00 cum unloading etc. (lead for 20 km) Repair to cement plaster in cement mortar 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade 2. 16450.00 p.sqmt and white or colour washing. 235.00 70.00 sqmt 11130.00 Repair to stone masonry in cement sand mortar 1:6 with old p.sqmt 318.00 35.00sqmt 3. and new stones. Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of 4. 1050.00 rubbish to the dumping ground within 50 meter lead. p.sqmt 15.00 70,00 sam Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work 5 including preparation of base with primer putty lippy complete in all respect. 37600.00 p.sqmt 80.00 470,00sqm Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on 6. 13600.00 69.00 p.sqmt 200.00sqmt old work (one or more coats) including scrapping and priming coat and necessary repairs. 10340.00 p.sqmt 22.00 470.00sqm 91610.00 Total Rs.

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

--% Above /below I /We hereby agreed to completed the above work @ -----the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Earnest Money Tender Period Date of Selling Receipt

उम्बाध हित्ती भी नहीं में भूर प्राप्ताल

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI DEEPNATH IL PR

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

		Based on 1. Hoit Amount					
1			Quantity	Rate	Unit	Amount	
1		ticular		_			
0	Same	rriage of earth/building material and road material etc. manual or by mechanical transport including loading	5,00 cum	240.00	p.cum	1440.00	
	1 07	loading etc. (lead for 20 km)	100				
2.	R	epair to cement plaster in cement morter 1:6 (1 cement : 6 epair to cement plaster in cement morter 1:6 (1 cement : 6 inc sand) including removal of old plaster in regular shade and white or colour washing.	30,00 somt	235.00	p.sqmt	7050.00	
_	1	Repair to stone masonry in cement sand morter 1:6 with old	20.00sqmt	318.00	p.sqmt	6360.00	
3.		and new stones.		1			
1	4.	Dismarrling of old plaster or skirning Jaking our judges of	30,00 sqm	15.00	p.sgmt	450.00	
1	5.	wall painting with plastic emulsion paint of approved Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy	300.00sqm	80.00	p.sqmt	24000.00	
	6.	Painting with enamel paint of approved trains as manufacture to give an even shade. Two or more costs of	50.00sqm	t 69.00	p.sqmt	3450.00	
	7.	new work.	300.00sq	m 22.00	p.sqmt	6600.0	
	1	Name and discount of the same	1 4 4 4 4 4 4	and the state of	Total R	49350.0	

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

Date of Date of Period Tender Earnest Money Receipt Selling Estimated Fee 2% Cost

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI HANUMAN JI, UMRAOGIRI KA MATII, SURAJ POLE, UDAIPUR.(RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022} Amount Unit Rate Quantity Particular Carriage of earth/building material and road material etc. No by manual or by mechanical transport including loading 1440.00 p.cum 240.00 6.00 cum unloading etc. (lead for 20 km) Repair to cement plaster in cement mortar 1:6 (1 cement ; 6 fine sand) including removal of old plaster in regular shade 11750.00 p.sqmt and white or colour washing. 235.00 50.00 sqmt 12720.00 Repair to stone masonry in cement sand mortar 1:6 with old p.sqmt 318.00 40.00sqmt 3. and new stones. Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of 4. rubbish to the dumping ground within 50 meter lead. 750.00 p.sqmt 15.00 50.00 sqm Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work 5. including preparation of base with primer putty lippy 28000.00 p.sqmt 80.00 350.00sqm complete in all respect. Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on 6210.00 6. p.sqmt 69.00 90.00sqmt new work. old work (one or more coats) including scrapping and

> Assistant Engineer Devasthan, Udaipur

priming coat and necessary repairs.

Assistant Commissioner Devasthan, Udaipur.

p.sqmt

Total Rs.

7700.00

68570.00

the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

ADDRESS

22.00

350.00sqm

DC. 45

OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTHAN, UDAIPUR,

Estimated Earnest Money Tender Period Date of Selling Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI GANESH JI AND BHOMIYA JI FATEH MEMORIAL, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

				1. ****	Amount
. 1	Particular	Quantity	Rate	Unit	Amount
0 /					
	Carriage of earth/ building material and road material etc. by manual or by mechanical transport including loading unloading etc. (lead for 20 km)	6.00 cum	240.00	p.cum	1440.00
2.	Repair to cement plaster in cement mortar 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade and white or colour washing.	70.00 sqmt	235,00	p.sqmt	16450.00
3.	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.	35.00sqmt	318.00	p.sqmt	11130.00
4.	c ht alean an elisting roking out joints and	70.00 sqm	15.00	p.sqmt	1050.00
5.	brand and manufacture to give an even shape. New work including preparation of base with primer putty lippy complete in all respect.	450,00sqm	80.00	p.sqmt	36000,00
1	 Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work. 	100.00sqm	69.00	p.sqmt	6900.00
1	 old work (one or more coats) including scrapping and priming coat and necessary repairs. 	450.00sqm	22.00	p.sqmt	9900.0
1		= = = = =		Total Rs	82870.0

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

D.C. 46

OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTHAN, UDAIPUR,

Estimated Earnest Money Tender Period Date of Selling Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI DEVCHENDERSHWAR MAHADEV, BAIJI RAJ KE BRHAMPURI , UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

		Dased on			* 10 1000
		Quantity	Rate	Unit	Amount
1	Particular			-	
	Carriage of earth/building material and road material etc by manual or by mechanical transport including loading unloading etc. (lead for 20 km)	6.00 cum	240.00	p.cum	1440.00
2.	Repair to cement plaster in cement mortar 1:6 (1 cement: fine sand) including removal of old plaster in regular shad and white or colour washing.	6 de 70.00 sqmt	235.00	p.sqmt	16450.00
3,	1 - and stomet	The second secon	318.00	p.sqmt	9540.00
4.	5 11 -leates or election raking out toints a	of 70.00 sqm	15.00	p.sqmt	1050.00
5	 Wall painting with plastic emulsion paint of appro- brand and manufacture to give an even shade. New wincluding preparation of base with primer putty li- complete in all respect. 	450.00sqm	80.00	p.sqmt	36000.0
1	 Painting with enamel paint of approved brand manufacture to give an even shade. Two or more coat 	200.00sqm	nt 69.00	p.sqmt	13600.0
Ì	old work (one or more coats) including scrapping priming coat and necessary repairs.	450.00sqn	n 22.00	p.sqmt	9900.0
- 3				Total Rs	87980.0

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

D.C.49

OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTHAN, UDAIPUR,

OFFICEOF		_	Period	Date of	Date of
Estimated Cost	Earnest Money 2%	Tender Fee	Tellon	Selling	Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI MATA JI AMBA JI, UDAIPUR. (RAJ.)

SCHEUDLE "G "

			{Based on P			Amount
			Quantity	Rate	Unit	
1		riage of earth/building material and road material etc.	2004	240.00	p.cum	1440.00
1		- courts of by internation	6.00 cum	240.00		
2.	Re	epair to cement plaster in cement mortar 1:6 (1 cement of		235.00	p.sqmt	16450.00
		1 hite or college was a	70.00 sqmt	232,00	1	11130.00
	1"	Repair to stone masonry in cement sand mortar 1:6 with old	35.00sqmt	318.00	p.scmt	11134
3.	7	and new stones.		15.00	p.sqmt	1050.00
1	5.	rubbish to the damping of approved			p.sqmt	32000.00
1		including proposed.	d	1 80.00		6900.0
1	-	Painting with enamel paint of approved brand an manufacture to give an even shade. Two or more costs of	n 100.00sqr	mt 69.00	p.sqmt	6900.0
1	6.	new work.	nd		p.sqmt	8800.0
	old work (one or more con- priming cost and necessary repairs.		400.00sq	m 22.00	Total Rs	77770.0

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur,

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Earnest Money Tender Period Date of Selling Receipt

Cost 2% Fee

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI NIMACH MATA JI, DEWALL, JUDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022} Amount Unit Rate Quantity Particular S. Carriage of earth/building material and road material etc. No 1440.00 by manual or by mechanical transport including loading p.cum 240.00 6.00 cum unloading etc. (lead for 20 km) Repair to cement plaster in cement mortar 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade 2. 16450,00 p.sqmt and white or colour washing, 235.00 70,00 sqmt 11130.00 Repair to stone masonry in cement sand mortar 1:6 with old p.sqmt 318.00 35,00sqmt 3. and new stones. Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of 4. rubbish to the dumping ground within 50 meter lead, 1050.00 p.sqmt 15.00 70,00 sqm Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work 5. including preparation of base with primer putty lippy 32000.00 p.sqmt 80.00 400,00sqm complete in all respect. Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on 8280.00 6. p.sqmt 69.00 120.00sqmt old work (one or more coats) including scrapping and 7. 00,0088 priming coat and necessary repairs. 22.00 p.sqmt 400.00sqm 79150.00 Total Rs.

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

Date of Date of Period Tender Earnest Money Selling Receipt Estimated Fee 2% Cost

NAME OF WORK: -REPAIR WORK OF TEMPLE SHRI NARBDESHWAR JI MANWAKHEDA, UDAIPUR. (RAJ.)

SCHEUDLE "G "

		Ra	te te	W.D. B.S. Unit	Amount
	Quantity	Ra			
Particular Carriage of earth/ building material and road material etc. Carriage of earth/ building material and road material etc.	6.00 cun	24	40.00	p.cum	1440.00
Carriage of earth/ building material and road material by manual or by mechanical transport including loading unloading etc. (lead for 20 km) Repair to cement plaster in cement mortar 1:6 (1 cement : 6 Repair to cement plaster in cement mortar in regular shade fine sand) including removal of old plaster in regular shade	6,00 can		35.00	p.sqmt	18800.00
fine sand) merous washing.	80.00 squ	1	318.00	p.sqmt	11130.00
3. Repair to stone masonry in cement sand mortar 1:6 with old and new stones. 4. Dismantling of old plaster or skirting ,raking out joints an cleaning the surface for plaster including disposal cleaning the surface for plaster including disposal cleaning the surface for plaster including disposal cleaning the strategies of the strat	d of		15.00	p.sqmt	1200.00
rubbish to the dumping ground within 30 meets of approv	ed ork		80.00	p.sqmt	37600,0
including preparation of base with pro-	and and			p.sqmt	13600.0
manufacture to a	200.00 and		22.00	p.sqm	10340.0
old work (one or more coats) including sterr old work (one or more coats) including sterr priming coat and necessary repairs.	470.00)sqm	22,00	Total I	15. 94110.0

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

-% Above /below 1/We hereby agreed to completed the above work @ the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Earnest Money Tender Period Date of Selling Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI LAKHANSHYAM JI,UTHARDA, UDAIPUR. (RAJ.)

SCHEUDLE "G "

			The second secon		W.D. B.S.	Amount
			Quantity	Rate		
T	Par	ticular				
+	Ca	rriage of earth/ building material and road material etc. manual or by mechanical transport including loading	6,00 cum	240.00	p.cum	1440.00
1	by	manual or by mechanicas	6.00 cum	2101	T	
1,	R	aloading etc. (lead for 20 km) epair to cement plaster in cement mortar 1:6 (1 cement : 6 inc sand) including removal of old plaster in regular shade	70.00 sqmt	235.00	p.sqmt	16450.00
	10	and white or colour washing. Repair to stone masonry in cement sand mortar 1:6 with old	35,00sqmt	318.00	p.sqmt	11130.00
3.	1	Repair to stone masonly in continuous raking out joints and and new stones.			100000000000000000000000000000000000000	
4.	1	Dismantling of old plaster of skirting including disposal of cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	70.00 sqm	15.00	p,sqmt	1050.00
-	5.	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy	400,00sqn	80.00	p.sqmt	32000.00
1	6.	complete in all respect. Painting with enamel paint of approved brand an manufacture to give an even shade. Two or more coats of the c	d	nt 69.00	p.sqmt	6900.00
1	7.	new work.	id		p.sqmt	8800.0
	1	priming coat and necessary repairs.	400,00sq	m 22.00	Total Rs	77770.0

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Cost Earnest Money 2%

Tender Fee Period E

Date of Selling

Date of Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI MAHADEV JI NARBDESHWAR JI , JAISAMAND KI PAL ,UDAIPUR. (RAJ.)

SCHEUDLE "G "

(Based on P.W.D. B.S.R.2022)

s.	Particular	Quantity	Rate	Unit	Amount
1.	Carriage of earth/ building material and road material etc.				
	by manual or by mechanical transport including loading unloading etc. (lead for 20 km)	6.00 cum	240.00	p.cum	1440.00
2.	Repair to cement plaster in cement mortar 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade and white or colour washing.	70.00 sqmt	235.00	p.sqmt	16450.00
3,	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.	35.00sqmt	318.00	p.samt	11130.00
4,	Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	70.00 sqm	15.00	p.sqmt	1050.00
5.	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.	500.00sqm	80.00	p.sqmt	40000.00
6.	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work,		69.00		
7.	the second of their course including scrapping and	+100,100 square	69.00	p.sqmt	13800.00
	priming coat and necessary repairs.	500.00sqm	22.00	p.sqmt	11000,00
1				Total Rs.	94870.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:



Estimated Earnest Money Tender Period Date of Selling Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI JAWANSWARUPESHWAR JI, JAGDISH CHOWK, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022} Amount Unit Rate Quantity Particular. S. Carriage of earth/building material and road material etc. No by manual or by mechanical transport including loading 1440.00 ١. 240.00 p.cum 6.00 cum unloading etc. (lead for 20 km) Repair to cement plaster in cement mortar 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade 16450.00 and white or colour washing. p.sqmt 235.00 70.00 sqmt Repair to stone masonry in cement sand mortar 1:6 with old 11130.00 318.00 p.sqmt 35.00sqm1 and new stones. Dismantling of old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of 4 rubbish to the dumping ground within 50 meter lead. 1050.00 p.sqmt 15.00 70.00 sqm Wall painting with plastic emulsion paint of approved beand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect. 32000.00 p.sqmt 80.00 400.00sqm Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on D. 6900.00 p.sqmt 69.00 100.00sqm1 old work (one or more coats) including scrapping and priming cost and necessary repairs. \$800.00 22.00 p.sqmt 400.00sqm 77770.00 Total Rs.

> Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur,

SIGNATURE OF CONTRACTOR

CLASS:

Date of Date of Period Tender Earnest Money Estimated Selling Receipt Fee 2% Cost

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI SHYAMSUNDAR JI, JAGDISH CHOWK, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022} Amount Unit Rate Quantity Particular S. No Carriage of earth/building material and road material etc. by manual or by mechanical transport including loading 1. 1440.00 240.00 p.cum 6,00 cum unloading etc. (lead for 20 km) Repair to cement plaster in cement mortar 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade 2. 16450.00 and white or colour washing. p.sqmt 235.00 70.00 sqmt Repair to stone masonry in cement sand mortar 1:6 with old 11130.00 318.00 p.sqmt 3. 35.00sqmt and new stones. Dismantling of old plaster or skirting ,raking out joints and 4. cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead. 1050.00 15.00 p.sqmt 70.00 sqm Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work 5. including preparation of base with primer putty lippy complete in all respect. 32000.00 p.sqmt 80.00 400.00sqm Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on 6900.00 69.00 p.sqmt 100.00sqmt old work (one or more coats) including scrapping and priming coat and necessary repairs. 8800.00 22.00 p.sqmt 400.00sqm 77770.00 Total Rs.

> Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

--% Above /below 1/We hereby agreed to completed the above work @ ----the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Earnest Money Tender Period Date of Selling Receipt

NAME OF WORK: -REPAIR WORK OF TEMPLE SHRI JAGAT SHIROMANI JI, JAGDISH CHOWK, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

			1134	taca ou		Amount
_			Quantity	Rate	Unit	Amount
		icular				
1	See.	riage of earth/ building material and road material etc. manual or by mechanical transport including loading	6.00 cum	240.00	p.cum	1440.0
2.	lan	coading etc. (lead for 20 km) spair to cement plaster in cement mortar 1:6 (1 cement : 6 spair to cement plaster in cement mortar 1:6 (1 cement : 6 spair to cement plaster in cement in regular shade				16450.0
	l on	nd white or colour wasning.	70.00 sqmt	235.00	p.sqmt	70.000
	10	tepair to stone masonry in cement sand mortar 1:6 with old	35.00sqmt	318.00	p.sqmt	11130.0
4.	i i	and new stones. Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	70,00 sqm	15.00	p.sqmt	1050.0
5	5	Walt painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy	410.00sqm	80.00	p.sqmt	32800.0
+	6.	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on	95.00sqmt	69.00	p.sqmt	6555.0
1	7.	new work. old work (one or more coats) including scrapping and priming coat and necessary repairs.	410.00sqm	22.00	p.sqmt Total Rs.	9020.0 78445.0

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Earnest Money Tender Period Date of Selling Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI GOKUL CHANDRMA JI, JAGDISH CHOWK, UDAIPUR. (RAJ.)

SCHEUDLE "G"

			{Ba	sed on P	.W.D. B.S	.R.2022}
			Quantity	Rate	Unit	Amount
T	Part	jeular				
0		riage of earth/building material and road material etc. manual or by mechanical transport including loading	6,00 cum	240.00	p.cum	1440.00
1.	Re	epair to cement plaster in cement mortar 1:6 (1 cement: 6 epair to cement plaster in cement mortar 1:6 (1 cement: 6 epair to cement plaster in regular shade	an no cami	235.00	p.sqmt	16450.00
	100	nd white or colour washing. Repair to stone masonry in cement sand mortar 1:6 with old	70.00 sqmt 35.00sqmt	318.00	p.sqmt	11130.0
3.	-	and new stones. Dismanding of old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.		15.00	p.sqmt	1050.0
1	5,	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work brand and manufacture to give an even shade. New work brand and manufacture to give an even shade. New work		80.00	p.sqmt	33200.0
	6.	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats or	1	69,00	p.sqmt	6900.0
	7.	new work.	d 415.00sqm		p.sqmt	9130.0
	1	priming cost and necessary repairs.	415,005qisi		Total Rs.	79300.0

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

5,5,

OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTHAN, UDAIPUR,

Estimated

Earnest Money 2%

Tender

Date of Period

Date of Receipt

Cost

Fee

Selling

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI VRANDAWAN CHANDRAMA JI, JAGDISH CHOWK, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

			{Das	seu on x	7 44 44	Amend
			Quantity	Rate	Unit	Amount
: N		ticular				
	1 bear	rriage of earth/ building material and road material etc. manual or by mechanical transport including loading	6,00 cum	240.00	p.cum	1440.0
2.	R	cepair to cement plaster in cement mortar 1:6 (1 cement : 6 tepair to cement plaster in cement mortar 1:6 (1 cement : 6 tepair to cement plaster in regular shade tepair to cement plaster in regula	-0.00 comt	235.00	p.sqmt	16450.0
\	1:	and white or colour washing. Repair to stone masonry in cement sand mortar 1:6 with old	70.00 sqmt	318.00	p.sqmt	11130.0
3.	1	Repair to stone masonry in centent sand	35.00sqmt	310.00		
4	1	and new stones. Dismantling of old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	70.00 sqm	15.00	p.sqmt	1050.0
1	5.	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy		80.00	p.sqmt	33200.0
1	6.	complete in all respect. Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats or	1	69.00	p.sqmt	6900.0
		new work.	d		p.sqmt	9130.0
	7.	old work (one of inter- priming coat and necessary repairs.	415.00sqm	22,00	Total Rs.	79300.0

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

% Above /below t /We hereby agreed to completed the above work @ the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

Date of Date of Period Tender Earnest Money Estimated Selling Receipt Fee 2% Cost

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI JAGNNATH RAI JI,(JAGDISH JI) JAGDISH CHOWK, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022} Amount Unit Rate Quantity Particular Carriage of earth/ building material and road material etc. No by manual or by mechanical transport including loading 1440.00 p.cum 240.00 6.00 cum unloading etc. (lead for 20 km) Repair to cement plaster in cement mortar 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade 16450.00 and white or colour washing. p.sqmt 235.00 70.00 sqmt Repair to stone masonry in cement sand mortar 1:6 with old 11130,00 p.sqmt 318,00 35,00sqm1 3. and new stones. Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of 4. rubbish to the dumping ground within 50 meter lead. 1050.00 p.sqmt 15.00 70.00 sqm Wall painting with plastic emulsion point of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy 33200.00 p.sqmt 80.00 415.00sqm complete in all respect. Painting with enamel point of approved brand and manufacture to give an even shade. Two or more coats on 6. 6900.00 69.00 p.sqmt 100,00sqmt old work (one or more coats) including scrapping and priming coat and necessary repairs. 9130.00 22.00 p.sqmt

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

Total Rs.

79300.00

I /We hereby agreed to completed the above work @ -----/below the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

415.00sqm

(9

OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTHAN, UDAIPUR,

Estimated Earnest Money Tender Period Date of Selling Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI JAWAN SURAJ BIHARI JI, JAGDISH CHOWK, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

				# F 14	Amount
	icular	Quantity	Rate	Unit	Amount
Dy .	riage of earth/building material and road material etc. manual or by mechanical transport including loading ouding etc. (lead for 20 km)	6,00 cum	240.00	p.cum	1440.0
Re	pair to cement plaster in cement mortar 1:6 (1 cement : 6 to estand) including removal of old plaster in regular shade in white or colour washing.	70.00 sqmt	235.00	p.sqmt	16450.0
100.0	epair to stone masonry in cement sand mortar 1:6 with old	35.00sqmt	318.00	p.sqmt	11130.0
D	dismantling of old plaster or skirting raking out joints and leaning the surface for plaster including disposal of ubbish to the dumping ground within 50 meter lead.	70.00 sqm	15.00	p.sqmt	1050.0
1	Wall painting with plastic emulsion point of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.	415.00sqm	80.00	p.sqmt	33200.0
1	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on	100.00sqmt	69.00	p.sqmt	6900.00
-	old work (one or more coats) including scrapping and priming coat and necessary repairs.	415.00sqm	22.00	p.sqmt	9130.00
					Total Rs.

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

Estimated <u>Farnest Money</u> Tender Period Date of Selling Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI JAWAN SWAROOP BIHARI JI , JAGDISH CHOWK, UDAIPUR. (RAL)

SCHEUDLE "G "

(Based on P.W.D. B.S.R.2022)

			3100	Merch care	41-14	Amount
			Quantity	Rate	Unit	Smann
7	Par	ticular				
0	Ca	rriage of earth/building material and road material etc. manual or by mechanical transport including leading	6,00 cum	240.00	p.cum	1449.0
	ut	alreading etc. (lead for 20 king)	dor't st			
1.	R	aloading etc. (lead for 20 km) Lepair to coment plaster in coment morter 1:6 (1 cement : 6 inc sand) including removal of old plaster in regular shade and white or colour washing.	70.00 sgmt	235.00	p.sgmt	16459.0
	1	Repair to stone masonry in coment sand morter 1:6 with old	35.00sqmt	318.00	p.sqmt	11130.0
3.	1	and new stones.				
4		and new stones. Dismantling of old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	10,00 sgm	15.00	p.sqmt	1050.0
1		trian reset of approved				
-	5.	trand and manusacture of base with primer putty lippy	415.00sqm	80.09	p.sqmt	33200.0
1		complete in all respects	1.		- west	6900.0
- V	6.	manufacture to give an even	Total And September	69.00	.p.sqmt	
	7.	new work.	1	22.00	p.sqmt	9130.00
	1"	old work cone of priming cont and necessary repairs.	415.00sgm	44.00	Total Rs.	79300.00

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Earnest Money Tender Period Date of Selling Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI SARDAR SWAROOP SHYAM JI JAGDISH CHOWK, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

		120000			
		Quantity	Rate	Unit	Amount
Car	riage of earth/building material and road material etc. manual or by mechanical transport including loading	6.00 cum	240.00	p.cum	1440.00
L Re	loading etc. (lead for 20 km) spair to cement plaster in cement mortar 1:6 (1 cement : 6 ne sand) including removal of old plaster in regular shade nd white or colour washing.	70.00 sqmt	235.00	p.sqmt	16450.0
3.	Repair to stone masonry in cement sand mortar 1:6 with old	35.00sqmt	318.00	p.sqmt	11130.00
1	and new stones. Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	70.00 sqm	15.00	p.sqmt	1050.0
5.	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.		80.00	p.sqmt	33200,0
6.	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on	100.00sqmt	69.00	p.sqmt	6900.0
7.	the second course course inclinating scrapping	415.00sqm	22.00	p.sqmt Total Rs.	9130.0

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Earnest Money Tender Period Date of Selling Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI JAGNESHWAR JI MAHADEV AND GUPTESHWAR JI, BORSALI GHAT, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

			{Bas	sed on 1	1 mm m	Amount
			Quantity	Rate	Unit	Amount
1		icular	220	_		
1	Tor.	riage of earth/ building material and road material etc. manual or by mechanical transport including loading	6.00 cum	240.00	p.cum	1440.00
	uni	loading etc. (lead for 20 km)	-			
2.	Re	epair to cement plaster in cement mortar 1:6 (1 cement : 6 epair to cement plaster in cement mortar 1:6 (1 cement : 6 epair to cement plaster in regular shade epair to colour washing.	70.00 sqmt	235,00	p.sgmt	16450.0
3.		Repair to stone masonry in cement sand mortar 1:6 with old	35.00sqmt	318.00	p.sqmt	11130.0
4.	+	and new stones. Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	70.00 sqm	15.00	p.sqmt	1050.0
1	5.	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy	470.00sqm	80.00	p.sqmt	37600.0
1	6.	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats or	200,00sqm	69.00	p.sqmt	13600.0
	7.	new work.	470.00sqm	22.00	p.sqmt Total Rs.	10340.0 91610.0

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

5.5. (19)

Estimated Cost Earnest Money

Tender Fee Period Date of Selling Date of Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI BHIM PARMESHWAR JI, , UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022} Amount Unit Rate Quantity Particular Carriage of earth/ building material and road material etc. 1440.00 by manual or by mechanical transport including loading No p.cum 240.00 6.00 cum unloading etc. (lead for 20 km) Repair to cement plaster in cement mortar 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade 16450.00 2. p.sqmt 235.00 and white or colour washing. 70.00 sqmt 11130.00 Repair to stone masonry in cement sand mortar 1:6 with old p.sqmt 318.00 35.00sqmt 3. Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of 1050.00 4. rubbish to the dumping ground within 50 meter lead. p.sqmt 15.00 70.00 sqm Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work 38400.00 including preparation of base with primer putty lippy 5. p.sqmt 80.00 480,00sqm complete in all respect. Painting with enamel paint of approved brand and 13600.00 manufacture to give an even shade. Two or more coats on p.sqmt 69.00 200.00sqmt old work (one or more coats) including scrapping and new work. 10560.00 22.00 p.sqmt priming coat and necessary repairs. 480.00sqm 92630.00 Total Rs.

> Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

27 (2)

Estimated Cost Earnest Money 2% Tender Fee Period

Date of Selling

Date of Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI ABHAYSWAROOP BIHARI JI, , UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

	Particular	Quantity	Rate	Unit	Amount
	Carriage of earth/ building material and road material etc. by manual or by mechanical transport including loading unloading etc. (lead for 20 km)	6,00 cum	240.00	p.cum	1440.00
2.	Repair to cement plaster in cement mortar 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade and white or colour washing.	70.00 sqmt	235.00	p.sqmt	16450.00
3.	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.	35.00sqmt	318.00	p.sqmt	11130.00
4.	Dismantling of old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	70.00 sqm	15.00	p.sqmt	1050.0
5.	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.		80.00	p.sqmt	33200.0
1	 Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats or new work. 	100.00sqmt	69.00	p.sqmt	6900.00
1	 old work (one or more coats) including scrapping and priming coat and necessary repairs. 	415.00sqm	22.00	p.sqmt	9130.00
1				Total Rs.	79300.00

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

5.5. (8)

Estimated Cost Earnest Money 2% Tender Fee Date of Selling

Period

Date of Receipt

NAME OF WORK: REPAIR WORK OF TEMPLE SHRI CHARBHUJA JI, SHIVRATI MARG, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022} Amount Unit Rate Quantity Particular S. Carriage of earth/ building material and road material etc. No 1440.00 by manual or by mechanical transport including loading p.cum 1. 240.00 6,00 cum unloading etc. (lead for 20 km) Repair to cement plaster in cement mortar 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade 2. 16450.00 p.sqmt and white or colour washing. 235.00 70,00 sqm1 Repair to stone masonry in cement sand mortar 1:6 with old 11130.00 p.sqmt 318.00 35.00sqmt 3. Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of 4. 1050.00 rubbish to the dumping ground within 50 meter lead, 15.00 p.sqmt 70.00 sqm Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy 33200,00 p.sqmt 80.00 415.00sqm complete in all respect. Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on 6900.00 p.sqmt 6. 69.00 100,00sqmt old work (one or more coats) including scrapping and 9130.00 p.sqmt priming coat and necessary repairs. 7, 22,00 415,00sqm 79300.00 Total Rs.

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

2.2,

Estimated Earnest Money Tender Period Date of Receipt
Cost 2% Fee Selling

NAME OF WORK: - REPAIR WORK OF TEMPLE MADAN MOHAN JI GHATI, UDAIPUR. (RAJ.)

SCHEUDLE "G "

Amount	V.D. B.S.I	d on I	{Base	
	Cinc	tate	uantity I	
			_	Particular
1440.00	p.cum	240,00		Carriage of earth/building material and road material etc. by manual or by mechanical transport including loading.
		-	6.00 cum	by manual or by mechanical damp
16450.00	p.sqmt	235.00		unloading etc. (lead for 20 km) unloading etc. (lead for 20 km) Repair to cement plaster in cement mortar 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade
11130,00	p.sqmt	318.00	70.00 sqmt	and white or colour washing. Repair to stone masonry in cement sand mortar 1:6 with old
1	720-	**********	35.00sqmt	Repair to stone masonry in centers and
1050.0	p.sqmt	15.00	70.00 sqm	and new stones. Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.
33200.0	p.sqmt	80.00	415.00sqm	5. Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy
6900.0	p.sqmt	69.00	-	complete in all respect. 6. Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats or
		03.00	100,008qm	manufacture to give an even state new work. 7. old work (one or more coats) including scrapping an
9130.0	p.sqmt	22.00	415.00sqm	7. old work (one or more coas) priming coat and necessary repairs.

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

5,5, (19)

Estimated Earnest Money Tender Period Date of Selling Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI BHIM MOHAN LAL JI, PASWAN KI GALI, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

	Dascu on			Amount	
		Quantity	Rate	Unit	Amount
. 10	Carriage of earth/building material and road material etc. by manual or by mechanical transport including loading	6.00 cum	240.00	p,cum	1440.00
	unloading cic. (lead for 20 km) unloading cic. (lead for 20 km) Repair to cement plaster in cement morter 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade and white or colour washing.	50,00 sqmt	235.00	p.sqmt	11750.00
3.	Remir to stone masomy in cement sand mortar 1:6 with old	The second secon	318.00	p.sqmt	12720.00
4.	Dismontling of old plaster or skirting ,raking out joints and eleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	50.00 sqm	15.00	p.sqmt	750,00
5.	brand and manufacture to give an even including preparation of base with primer putty lippy	400,00sqm	80.00	p.sqmt	32000.00
1	 Painting with enamel paint of approved brand an manufacture to give an even shade. Two or more costs of 	150.00sqn	at 69.00	p.sqmt	10350.0
1	 new work. old work (one or more coats) including scrapping at priming coat and necessary repairs. 	400.00sq	n 22.00	p.sqmt Total Rs	8800.0 77810.0

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

Date of Date of Period Tender Earnest Money Receipt Selling Estimated Fee 2% Cost

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI HANUMAN JI COURT CHORAHA ,AT UDAIPUR.RAJ.)

SCHEUDLE "G"

{Based on P.W.D. B.S.R.2022} Unit Rate Quantity

			Quantity	Rate		-	
0	Car	rriage of earth/ building material and road material etc. manual or by mechanical transport including loading	6,00 cum	240	.00	p.cum	1440.00
2.	R	legair to cement plaster in cement mortar 1:6 (1 cement: 6 tepair to cement plaster in cement mortar 1:6 (1 cement: 6 tepair to cement plaster in cement mortar 1:6 (1 cement: 6 tepair to cement plaster in regular shade	50,00 sqmt	23:	5,00	p.sqmt	11750.00
1	100	and white or colour washing, Repair to stone masonry in cement sand mortar 1:6 with old			8.00	p.sqmt	3180.00
3	4.	Dismontling of old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of which to the dumping ground within 50 meter lead.	50.00 sqm	1	5.00	p.sqmt	750.00
1	5.	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy	500.00sq	m !	80.00	p.sqmt	40000.00
	6	complete in all respect	d l	amt	69.00	p.sqmt	13800.00
	1	new work. 7. old work (one or more coats) including scrapping a priming coat and necessary repairs.	40000		22,00	p.sqmt Total Rs	11000.0 81920.0

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

--% Above /below I/We hereby agreed to completed the above work @ the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Cost

Earnest Money 2%

Tender Fee

Date of Period Selling Date of Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI PASHUPATESHWAR JI, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022} Unit Rate Quantity Particular S. Carriage of earth/ building material and road material etc. No 1440.00 by manual or by mechanical transport including loading p.cum 240,00 6.00 cum unloading etc. (lead for 20 km) Repair to cement plaster in cement mortar 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade 11750.00 2. p.sqmt 235.00 and white or colour washing. 50.00 sqmt 6360.00 Repair to stone masonry in cement sand mortar 1:6 with old p.sqmt 318.00 20.00sqmt 3. Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of 750.00 4. rubbish to the dumping ground within 50 meter lead. p.sqmt 15.00 50.00 sqm Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect. 40000.00 5. p.sqmt 80.00 500.00sqm Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on 6900.00 p.sqmt 69,00 100.00sqmt old work (one or more coats) including scrapping and new work. 11000.00 p.sqmt 22.00 priming coat and necessary repairs. 500,00sqm 78200.00 Total Rs.

> Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

-% Above /below I /We hereby agreed to completed the above work @ ----the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Cost Earnest Money 2% Tender Fee Period

Date of Selling Date of Receipt 5.5 22

NAME OF WORK: REPAIR WORK OF TEMPLE SHRI AJAN SWAROOP BIHARI JI' GOVARDHAN VILAS,, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022} Amount Unit Rate Quantity Particular Carriage of earth/building material and road material etc. No 1440.00 by manual or by mechanical transport including loading p.cum 240.00 6.00 cum unloading etc. (lead for 20 km) Repair to coment plaster in cement mortar 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade 2 16450.00 p.sqmt 235.00 and white or colour washing. 70.00 sqmt Repair to stone masonry in cement sand mortar 1:6 with old 6360.00 318.00 p.sqmt 20.00sqmt 3. and new stones. Dismantling of old pluster or skirting ,raking out joints and cleaning the surface for plaster including disposal of 4. rubbish to the dumping ground within 50 meter lead. 1050.00 p.sqmt 15.00 70.00 sqm Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work 5. including preparation of base with primer putty lippy 36000.00 p.sqmt 80.00 450.00sqm complete in all respect. Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on 6900.00 6. p.sqmt 69.00 100.00sqmt old work (one or more coats) including scrapping and new work. 9900.00 priming coat and necessary repairs. p.sqmt 22.00 450,00sqm 78100.00 Total Rs.

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

1/We hereby agreed to completed the above work @ -------------------------------% Above /below the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

24)

Estimated Earnest Money Tender Period Date of Selling Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI BHOJNATH MAHADEV, JI, NEAR TO M.B. COLLAGE UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

Particular	Quantity	Rate	Unit	Amount
Carriage of earth/ building material and road material etc.	6.00 cum	240.00	p.cum	1440.0
unloading etc. (lead for 20 km) Repair to cement plaster in cement mortar 1:6 (1 cement : 6 fine sand) including removal of old plaster in regular shade and white or colour washing.	50.00 sqmt	235.00	p.sqmt	11750.0
Repair to stone masonry in cement sand mortar 1:6 with old and new stones.	10.00sqmt	318.00	p.sqmt	3180.0
Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	50,00 sqm	15.00	p.sqmt	750.0
 Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect. 	500.00sqm	80.00	p.sqmt	40000.00
Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on	150.00sqmt	69.00	p.sqmt	10350.00
old work (one or more coats) including scrapping and priming coat and necessary repairs.	500,00sqm	22.00	p.sqmt	11000.00 78470.00
7. o	ld work (one or more coats) including scrapping and riming coat and necessary repairs.	to the post and necessary repairs.	1. 1. and and accessary repairs.	1. 1. and and accessary repairs.

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

5.5. (26)

Estimated Cost Earnest Money 2%

Tender Fee Period

Date of Selling Date of Receipt

NAME OF WORK: REPAIR WORK OF TEMPLE SHRI BEJNATH MAHADEV, SISARMA UDAIPUR. (RAJ.)

SCHEUDLE "G "

(Based on P.W.D. B.S.R.2022)

io l	Part	ticular	Quantity	Rate	Unit	Amount
	by	riage of earth/ building material and road material etc. manual or by mechanical transport including loading oading etc. (lead for 20 km)	10.00 cum	240.00	p.cum	2400.00
2.	fin	pair to cement plaster in cement mortar 1:6 (1 cement : 6 to e sand) including removal of old plaster in regular shade and white or colour washing.	70.00 sqmt	235.00	p.sqmt	16450.00
3.		epair to stone masonry in cement sand mortar 1:6 with old nd new stones.	20.00sqmt	318.00	p.sqmt	6360.00
4.	10	Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	70.00 sqm	15.00	p.sqmt	1050.00
1	5.	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.	500.00sqm	80.00	p.sqmt	40000.00
1	6.	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work.	200.00sqmt	69.00	p.sqmt	13800.00
	7.	old work (one or more coats) including scrapping and priming coat and necessary repairs.	500.00sqm	22.00	p.sqmt	11000.00
			X. 110 X. 110 X. 11		Total Rs.	91060.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Earnest Money Tender Period Date of Selling Receipt

NAME OF WORK: REPAIR WORK OF TEMPLE SHRI PITAMBARRAI JI, LAKADWAS UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

		Quantity	Rate	Unit	Amount
	Particular				
0	Carriage of earth/ building material and ro by manual or by mechanical transport in unloading etc. (lead for 20 km)	6,00 cum	240.00	p.cum	1440.00
2.	Repair to cement plaster in cement mortar t fine sand) including removal of old plaster and white or colour washing.	:6 (1 cement : 6 in regular shade 65.00 sqmt	235.00	p.sgmt	15275,00
3.	in cement sand m	The second secon	318.00	p.sqmt	3180.00
4.	and new stones. Dismantling of old plaster or skirting ,rak cleaning the surface for plaster inclurablish to the dumping ground within 50 in the dumping grou	ing out joints and ding disposal of neter lead. 65.00 sqm	15.00	p.sqmt	975.00
5	 Wall painting with plastic emulsion; brand and manufacture to give an even including preparation of base with p complete in all respect. 	rimer putty lippy 500.00sqm	80.00	p.sqmt	40000.00
1	 Painting with enamel paint of app manufacture to give an even shade. Two 	100.00sqrnt	69.00	p.sqmt	6900.00
1	7. old work (one or more coats) include priming coat and necessary repairs.	ling scrapping and 500,00sqm	22.00	p.sqmt	11000.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Cost Earnest Money 2%

Tender Fee

Period

Date of Selling

Date of Receipt

NAME OF WORK: REPAIR WORK OF TEMPLE SHRI ZAWAR MATA JI, ZAWAR MINCE, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

No.	Particular	Quantity	Rate	Unit	Amount
	Carriage of earth/ building material and road material etc. by manual or by mechanical transport including loading unloading etc. (lead for 20 km)	6,00 cum	240.00	p.cum	1440.00
2.	Repair to cement plaster in cement mortar 1:6 (1 cement: 6 fine sand) including removal of old plaster in regular shade and white or colour washing.	60.00 sqmt	235.00	p,sqmt	14100.00
3.	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.	10.00sqmt	318.00	p.sqmt	3180.00
4.	Dismantling of old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	60.00 sqm	15.00	p.sqmt	900,00
5.	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.	500.00sqm	80.00	p.sqmt	40000,00
6.	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on	120.00sqmt	69.00	p.sqmt	8280.00
17	new work. old work (one or more coats) including scrapping and priming coat and necessary repairs.	500.00sqm	22.00	p.sqmt	11000.00
- 1			- House State	Total Rs.	78900.00

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS:

5.5. (29

OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTHAN, UDAIPUR,

Estimated Earnest Money Tender Period Date of Cost 2% Fee Selling Receipt

NAME OF WORK: REPAIR WORK OF TEMPLE SHRI TEJANAND BIHARI JI AT SALUMBAR DISTT, UDAIPUR. (RAJ.)

SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

		Introduction of			1 4
0	Particular	Quantity	Rate	Unit	Amount
	Carriage of earth/ building material and road material etc. by manual or by mechanical transport including loading unloading etc. (lead for 20 km)	6.00 cum	240.00	p,cum	1440.0
2,	Repair to cement plaster in cement mortar 1:6 (1 cement: 6 fine sand) including removal of old plaster in regular shade and white or colour washing.	70.00 sqmt	235,00	p.sqmt	16450.00
3.	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.	10.00sqmt	318.00	p.sqmt	3180.00
4.	to be the least of chiefing solving out joints and	70.00 sqm	15.00	p.sqmt	1050.00
5	brand and manufacture to give an even state. New state including preparation of base with primer putty lippy complete in all respect.	490.00sqm	80.00	p.sqmt	39200,00
1	 Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on 	100.00sqmt	69.00	p.sqmt	6900.00
1	old work (one or more coats) including scrapping and priming coat and necessary repairs.	490.00sqm	22.00	p.sqmt	10780.00
				Total Rs.	79000.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

SIGNATURE OF CONTRACTOR

CLASS: